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KVS DIRECT RECRUITMENT EXAMINATIONS
(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name KVS PGT BIOLOGY

Exam Date & Time 20-02-2023 09:00:00

Subject : GE_Q01-Q10_PGTBIO
Question ID:- 1

FLIMSY

The word which is similar in meaning to the one given above is ;
(1) Thin

(2) Lasting

(3) Liable

(4) Likely
Options:-

«1, Option ID :- 1,
« 2, Option ID :- 2,
« 3, Option ID :- 3,
« 4, Option ID :- 4,

Question ID:- 2

THRIFTY
The word opposite in meaning to the one given above is :
(1) Provident

(2) Wasteful
(3) Penurious
(4) Stingy

Options:-

«1, Option ID :- 5,
« 2, Option ID :- 6,
« 3, Option ID :- 7,
= 4, Option ID :- 8,

Question ID:- 3

Identify the Part of Speech of the underlined word in the following sentence.

The miser hated spending money.

(1) Noun

(2) Verb

(3) Adjective
(4) Adverb
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Options:-

«1, Option ID :- 9,

« 2, Option ID :- 10,
« 3, Option ID :- 11,
=« 4, Option ID :- 12,

Question ID:- 4

She ruined her wealth in gambling.

Choose the option in which VOICE in the above sentence has been changed into Passive Voice.
(1) Gambling has ruined her wealth

(2) Her wealth was ruined in gambling

(3) Gambling has been ruined by her wealth

(4)

4 Her wealth has been ruined

Options:-

«1, Option ID :- 13,
« 2, Option ID :- 14,
« 3, Option ID :- 15,
» 4, Option ID :- 16,

Question ID:- 5

Sita said “Why don't you help me now, Lata ?”

Choose the option in which the above sentence has been changed into Indirect Speech.
(1) Sita requested Lata why she did not help her.

(2) Sita asked Lata why she did not help her then.

(3) Gita asked Lata why she did not help her then ?

(4) Sita asked Lata why did not she help her then.

Options:-

«1, Option ID :- 17,
« 2, Option ID :- 18,
=« 3, Option ID :- 19,
« 4, Option ID :- 20,

Question ID:- 6
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Rearrange the following words/phrases to form a meaningful and grammatically correct
sentence.

(A) retires from business

(B) with him

(C) itwillgo

(D) if his partner

(E) hard

(1) (D)B)E)A)C)

2 (OEB)D)A)

(3)  (A)B)D)C)(E

(4)  (BYA)(O)(D)E
Options:-

«1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,
= 4, Option ID :- 24,

Question ID:- 7

Identify the part of the following sentence that has an error in it.
Beware of that fellow - he will stick for nothing.

() (b) (c) (d)

—

L i

a
2
&
4

‘-gi"‘-n—f

e e S e S e
R

(

(

(c
(d)

Options:-

=1, Option ID :- 25,

« 2, Option ID :- 26,
=« 3, Option ID :- 27,
= 4, Option ID :- 28,

Question ID:- 8

Fill in the blank in the sentence given below by choosing the correct option out of the ones that

follow.
Latika was by a severe headache
(1) keptout
(2) knocked in
(3) laid out
(4) keptin
Options:-

«1, Option ID :- 29,
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« 2, Option ID :- 30,
=« 3, Option ID :- 31,
»« 4, Option ID :- 32,

Question ID:- 9

Fill in the blank in the sentence given below by choosing the correct option out of the ones that

follow.
It is quite warm. Let me

(1) help you out
(2) putyou off
(3) help you off
(4) putyou up

Options:-

«1, Option ID :- 33,
=« 2, Option ID :- 34,
« 3, Option ID :- 35,
« 4, Option ID :- 36,

with vour coat

Question ID:- 10

Fill in the blank in the sentence given below by choosing the correct option out of the ones that

follow.

He was

(1) put off
(2) put away
(3) putup
(4) put out

Options:-

«1, Option ID :- 37,
=« 2, Option ID :- 38,
« 3, Option ID :- 39,
= 4, Option ID :- 40,

when [ refused his request

Subject : GH_Q11-Q20_PGTBIO

Question ID:- 11
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et fau U TEIYT SRl Ugent SHUT ST WS o Welfteh Stod 3o ey |

TH % Ga9 H U 2F 91 Sie-28ie oy df dga-4 ¥ 1 FEfEa o9 v € uw e s wed €10
THUE T ST Bl & SR T & vifer B

T H T 6 Y frer o @i =t ==t @ T T
(1) <4

@ ¥

@) fa=em

(4) form

Options:-

«1, Option ID :- 41,
»« 2, Option ID :- 42,
« 3, Option ID :- 43,
»« 4, Option ID :- 44,

Question ID:- 12

et fau U TeryT Rt Ugeht SHUT TR WY o Talfies Shod 3T g |

T % HIH F YT 2 91t Sle-8ie oy a1 Jga-o 2| it w= = vt € wwn R s wehan 1 1A 6
THTE | T ST BT & 3 FH & viferk &1

wifert ToRe g1 TR © 2
(1) &
(2) M
(3) Il
(4) HIH
Options:-

=1, Option ID :- 45,
« 2, Option ID :- 46,
« 3, Option ID :- 47,
= 4, Option ID :- 48,

Question ID:- 13
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et fau U TEIYT SRl Ugent SHUT ST WS o Welfteh Stod 3o ey |
TH % Ga9 H U 2F 91 Sie-28ie oy df dga-4 ¥ 1 FEfEa o9 v € uw e s wed €10
TSIl ¥ SYe 21 © S 3 & v 81

UHTIET 1 9o ¥

(1) = %1 99

(2) o7 = FEEm

(3) M =t wifw

(4) i i
Options:-

=1, Option ID :- 49,
» 2, Option ID :- 50,
=« 3, Option ID :- 51,
»« 4, Option ID :- 52,

Question ID:- 14

et fau U TeryT Rt Ugeht SHUT TR WY o Talfies Shod 3T g |
T % HIH F YT 2 91t Sle-8ie oy a1 Jga-o 2| it w= = vt € wwn R s wehan 1 1A 6
T ¥ FH YA 2T & SR FH & v B

‘T 3TE | g el IR TR €

(1) 499
(2) HIM
(3) g™
(4) Hiaum
Options:-

«1, Option ID :- 53,
« 2, Option ID :- 54,
« 3, Option ID :- 55,
= 4, Option ID :- 56,

Question ID:- 15
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et fau U TEIYT SRl Ugent SHUT ST WS o Welfteh Stod 3o ey |

USRI | T ST 2l & iR 39 € vfem &

TR % STTHR Tesl TSR I )
(1) Tt
(2) S HA
() <fFa A
(4) 9IE =
Options:-

«1, Option ID :- 57,
« 2, Option ID :- 58,
=« 3, Option ID :- 59,
= 4, Option ID :- 60,

T % 0 9 YT 2 T Sle-sie oy a1 Jga-4 21 FEfa va o ges € umn o 5 weRd €160

Question ID:- 16

‘9" 37l F I 91T 95 TRl

(1) 9o
(2) T&HM
(3) HHU
COMILE T
Options:-

«1, Option ID :- 61,
»« 2, Option ID :- 62,
=« 3, Option ID :- 63,
« 4, Option ID :- 64,

Question ID:- 17

(1) w=dE
(2) SER
(3) femm
4) &l
Options:-

=1, Option ID :- 65,
» 2, Option ID :- 66,
=« 3, Option ID :- 67,
= 4, Option ID :- 68,
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Question ID:- 18

(1) &g

(2 HI-HE

(3) IfER- ek

4) T-fam
Options:-

«1, Option ID :- 69,
« 2, Option ID :- 70,
« 3, Option ID :- 71,
=« 4, Option ID :- 72,

Question ID:- 19

HfEr ST HA-—TT ISR ST 7 2

(2) T+ IYFR = WIHK

@) ToE + e = e

4) Tfeg + = = o=
Options:-

«1, Option ID :- 73,
=« 2, Option ID :- 74,
« 3, Option ID :- 75,
« 4, Option ID :- 76,

Question ID:- 20

forei wreg &1 S H-W1 FH W § 2

(1) Eifeash-amAfass

(2) Y-

(3) WE-HuA

(4) T g
Options:-

«1, Option ID :- 77,
=« 2, Option ID :- 78,
« 3, Option ID :- 79,
« 4, Option ID :- 80,

Subject : GA_Q21-Q30_PGTBIO

Question ID:- 21
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Which of the following statement/s is/are correct about Assembly language ?
(A) In this, mnemonics are used to represent operation codes

(B) Writing Assembly language programs is easy and time-saving,.

(C) It is machine independent

Choose the correct answer from the codes given below :

(1) (A) and (B) are correct

(2) (A) and (C) are correct

(3) (B) and (C) are correct

(4) Only (A) is correct

sTEEEt oiverst % ar H Fafafeas 3§ 9 @0 98w 9@ §/8 7

(A) ﬁﬁﬂ?ﬁ@@ﬁﬂﬁﬁ%ﬁ@@ﬁ@(mnemoﬂcs)ﬂﬂﬂmm%l
(B) srirarett St Wy =i forg omam & iR 7w 9 s9H 9w €

(C) == meiF § T i 2

(1) e (A) &R (B) W& €|
(2) e (A) ¥R (C) W ¥
(3) & (B) ¥R (C) W&t £
4) Had (A) T I
Options:-

«1, Option ID :- 81,
=« 2, Option ID :- 82,
« 3, Option ID :- 83,
« 4, Option ID :- 84,

Question ID:- 22

What is the name of the permanent tissue due to which flexibility in plants is possible ?
(1) Collenchyma

(2) Aerenchyma
(3) Epidermis
(4) Cuticle

3 S S o A 2§ e R 9l § er=itenes dye g g ?

(1) voIuiash
(2) =P
(3) 9 ==l
(4) SHEH
Options:-

=1, Option ID :- 85,
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« 2, Option ID :- 86,
=« 3, Option ID :- 87,
« 4, Option ID :- 88,

Question ID:- 23

Consider the following statements regarding GRIHA (Green Rating for Integrated Habitat
Assessment) :

(A) The Unique Identification Authority of India (UIDAI) Headquarter in New Delhi won the
GRIHA award in 2022.

(B) 1In 2021, the Unique Identification Authority of India, (UIDAI) Headquarter in New Delhi
won the GRIHA award.

(C) UIDAI Headquarter in New Delhi won the GRIHA award as it promoted the idea of recycle
and reuse to reduce carbon footprint.

Which of the statements given above is/are correct ?
(1) Only (A ) and (B)

(2) Only (B)
(3) Onlv (A) and (C)
(4) y (B)

GRIHA (I e % gehiifes Seiice stimz) o gy d frfafaa Hemi w fa=m Hifs

(A) = oot feoa vrea fafer we=m wfte (7 o978 €1 € o) Yere™ 3 2022 § GRIHA TR
Eind

(B) & focelt feod wrda faf¥re ve=m wifeemor (F 16 <F € E) 3 94 2021 § GRIHA JTEhR S|

(C) =5 feced feord 9 o1 €1 U &1 - GRIHA TURR Sidl il 369+ e Hefbe &l & it & fog

Y=Yl ST G o foraR ol sgmEr f@ |
IuEd FAA H H B H/H W € ?
(1) % (A) 3 (B)
(2) #a (B) i (C)
(3) a (A) 3R (C)
(4) ad (B)
Options:-

«1, Option ID :- 89,
=« 2, Option ID :- 90,
« 3, Option ID :- 91,
= 4, Option ID :- 92,

Question ID:- 24
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Match the List (I) with List (II) and select the correct answer using the codes given below :

List (I)
(Dronacharya Awards, 2022)
(A) Bimal Prafulla Ghosh
(B) Suma Siddharth Shirur
(C) Mahammad Ali Qumar
(D) Sujeet Maan

Codes :

A) B © (D)
() @) @ 6 @)
@ (v @) @ 6
@) @ @) @) ()
(4) (@) (v) (@) (@)

eIt (1) &1 g () 3 foem Fifsr qen = f5u e e o1 9am *3d g e oW &1 =99 fHE

= (1)

(BT QEERR fersidn 2022)
(A) famel Tged =Y
(B) g fagid forse
(C) Hiewg sfefl HH
(D) i A
e

(A) (B (©) (D)
(1) @) @@ @ )
(2)  @v) () (@@ (@)
@) @O @@ @v) ()
@) @) (@v) (D) (D)
Options:-

=1, Option ID :- 93,
« 2, Option ID :- 94,
=« 3, Option ID :- 95,
« 4, Option ID :- 96,

List (II)
(Sports/Games)
(i) Boxing
(i) Para Shooting
(iii) Football
(iv) Wrestling

Tl (1)

()
(i)  geeRST
(i) T
(i) s
(iv) et

Question ID:- 25

Which title/book has been selected for the Sahitya Akademi Award 2022 in Tamil language ?

(1) Noam Chomsky
(2) 1801

(3) Neervalari

(4) Kaala paani
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dfer s § wifeer st R, 2022 % fog frg gt/ g 1 g1 T g ?

(1)  =m ==t
(2) 1801

(3) REard
(4)  <hrer et
Options:-

«1, Option ID :- 97,
« 2, Option ID :- 98,
=« 3, Option ID :- 99,
=« 4, Option ID :- 100,

Question ID:- 26

Who founded the Organization ‘Dravidar Kazhagam” in India ?
(1) Jyotiba Phule

(2) E.V Ramasami Naicker
(3) M. Karunanidhi
(4) C.N. Annadurai

IRA H &fag HeTH WS ol L= fohe &t ot ?

(1) <Hfden Bl

(2) e THEH AEH
(3) WHIRBAH

(4) HU 3BT
Options:-

«1, Option ID :- 101,
« 2, Option ID :- 102,
« 3, Option ID :- 103,
« 4, Option ID :- 104,

Question ID:- 27

Which kind of forests are at their best in areas having more than 200 cm of rainfall with short dry
seasons ?

(1) Tropical evergreen forests

(2) Mangrove forests
(3) Moist deciduous forests
(4) Tropical dry deciduous forests
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Bl Yok 1\T 3T 200 .. § e aul o &5 § fRg YR & 99 T wed-fed @ 2
(1) Swrkfess HeRRd ==

(2) HWE A

(3) M gofurdt a

(4) SoTRiEFH] Ih quaTet a9
Options:-

«1, Option ID :- 105,
« 2, Option ID :- 106,
=« 3, Option ID :- 107,
« 4, Option ID :- 108,

Question ID:- 28

Who acquired the American social media company Twitter in 2022 ?
(1) Robber Barons

(2) Elon Musk
(3) Campbell Wilson
(4) Bill Gates

ad 2022 H AR drerer Hifesn sot * femer e’ s feem e & 2

(1) TR

(2) TH HER

(3) Hed faegA

(4) ot Tz
Options:-

«1, Option ID :- 109,
« 2, Option ID :- 110,
« 3, Option ID :- 111,
=« 4, Option ID :- 112,

Question ID:- 29

Which of the following amendments were not made to the Constitution of India through the 4ond
Amendment passed in 1976 ?

(1) Added the words ‘Secular’ and “Socialist” to the Preamble of the Constitution.

(2) Increased the tenure of Lok Sabha from 5 to 6 years

(3) Added anew article to the Directive Principle of State Policy with the provision for ‘free legal
aid’,

(4) Reduced the voting age in India from 21 to 18 years
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=9 1976 H Wifta forg 7T 42 3 HIleA & gy 9 IR F 9faye § fefafas 9 9 @5 o geiee =8
T o ?

(1) wfaem =t i 8 ¢ orifrger”’ ofR ' omrerard’ vse SE T

(2) ATRHYT 1 FEIRE 5 T8 G @Rt 6 99 foham T

(3) ‘Fryew fafis gemm’ & fau susy & iy W & Aifa- Fefer ol 9 wh T o= Sie )
(4) 9RE H AR 1 3 21 § 92 18 99 o

Options:-

«1, Option ID :- 113,
« 2, Option ID :- 114,
« 3, Option ID :- 115,
= 4, Option ID :- 116,

Question ID:- 30

The return of M.K Gandhi from South Africa on 9 January 1915 is celebrated each year in India as

The Khadi Divas

(1)
(2) The International Peace Day
(3) The Non-Resident Indian Day
(4) The Foreign Policy Day
TH. T4 =T 9 S 1915 =Rl &1 STHHTeRT H ST9ET 1 9Rd § s ERE RG]
g7
(1) wmEl feag
(2) SiaueE wifq fead
(3) waTE W feew
(4) Torcw ~ifa feem
Options:-

«1, Option ID :- 117,
» 2, Option ID :- 118,
« 3, Option ID :- 119,
= 4, Option ID :- 120,

Subject : RA_Q31-Q35_PGTBIO

Question ID:- 31
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The given question is based on the following information :

‘M@N" means ‘M is the mother of N';

‘MaN" means ‘M is the brother of N’;

‘M#N" means ‘M is the father of N';

‘M#N’ means ‘M is the sister of N';

If Q @ N@ P# R ; then how ‘Q’ related to ‘R’ ?

(1) Nephew

(2) Brother

(3) Maternal uncle
(4) Paternal uncle

ez o w9a F=fafag sk w snafa © -
‘M@N’ & @19 & — M, N %! 07l §1

‘MaN’ &1 318 § — M, N &l 9 g

MHN’ =1 37 & - M, N &1 faar €1

MHEN’ & 31§ - M, N &l 981 |

7fg ‘QeNa@P#R’ &, @ ‘Q, ‘R’ ¥ foF yoR graferg §2

(1) wetsn
(2) g
(3) =M=
(4) ==
Options:-

«1, Option ID :- 121,
« 2, Option ID :- 122,
« 3, Option ID :- 123,
=« 4, Option ID :- 124,

Question ID:- 32
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Three statements showing relationships have been given, which are followed by two conclusions
I and II. Assuming that the given statements are true, find out which of the conclusions is/are
definitely true ?

Statements :
1. M<R
2 L >§
3 L=M=N<P
Conclusions :
(), P=>9
(I) N<R
Only conclusion (I) is true

K=
e

Only conclusion (II) is true
Both conclusions (I) and (II) are true
Neither conclusion (I) nor (II) is true

A P P —
3

e ety qE STt o e e e § S s < e - 1o I faw T F | e v ge R g e e
&l %, 9% 9 ity fob s |y e ffvea w9 9 @l 28 7

<he T

1. M<R

L 3§

3. L=M=NE<P
frreent

() P>S

(II) N<R

(1) el Freed - (D) wE

2) el e - (1) wE R

3) e - (1) @ik (1), S we ©

(4) 2 fredl | | HE o W& TR ©
Options:-

«1, Option ID :- 125,

=« 2, Option ID :- 126,

« 3, Option ID :- 127,

=« 4, Option ID :- 128,

Question ID:- 33
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Seven friends A, B, C, D, E, F and G are sitting in a row facing South. ‘B and “F" are not sitting
together. ‘C’ is sitting second to the left of ‘D’. A’ is not sitting with ‘C". ‘I is sitting fourth to the
right of ‘E". A’ and ‘B’ are not sitting together. Only ‘E’ is sitting between ‘F’ and ‘G". ‘G’ is sitting
second to the left of one who is sitting second to the left of A’. Name two persons who are sitting
at the extreme ends ?

(1) “E and’G
(2) “‘C and ‘D’
(3) “A’and ‘B’
(4 ‘A’and‘F

@ f951 A, B, C, D, E, F IR G U& 4fed H af&o it A 48 lek od €1 B’ AR'F TH-T12 78l a8 81°C,
‘D’ % A SR gH EE WHSI § | A7, 'CT % WY TRl 81 81D, ‘E % gl SR =Y TE WASI 7 A
SR B Tk w1 e 98 B | F SR G H hee ‘E 981 1 G 39 SAfe o Al ST gHY TIF WSS §
i1 ‘A’ % AR SR gH T W dE1 €139 4 Sfedl & A s S i 9k WHS § 7

(1) “E 3G
(2) “C 3D
(3) ‘A’ IRB
(4) ;Ar _3#"[—{.«F;
Options:-

«1, Option ID :- 129,
« 2, Option ID :- 130,
=« 3, Option ID :- 131,
« 4, Option ID :- 132,

Question ID:- 34

Three statements are given, followed by three conclusions I, Il and IIl. You have to consider these
statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions logically follow(s) from the given statements ?

Statements :

1. Some rats are cats.
2. No cat is crow.
3. All crows are parrots.

Conclusions :
(I) Some parrots are cats.
(II) No parrot is cat.
(IIT) Some rats are crows.

(1) Only Conclusion (I) follows

(2) Only Conclusion (III) follows

(3) Only Conclusions (I) and (III) follows
(4) Only either Conclusion (I) or (II) follows
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Three statements are given, followed by three conclusions I, Il and III. You have to consider these
statements to be true, even if they seem to be at variance from commonly known facts. You are to
decide which of the given conclusions logically follow(s) from the given statements ?

Statements :
1. Some rats are cats.
2. No cat is crow.
2 All crows are parrots.

Conclusions :
(I) Some parrots are cats.
(IIy No parrot is cat.

(ITI) Some rats are crows.

(1) Only Conclusion (I) follows

(2) Only Conclusion (III) follows

(3)  Only Conclusions (I) and (III) follows

(4)  Only either Conclusion (I) or (II) follows
Options:-

«1, Option ID :- 133,
« 2, Option ID :- 134,
« 3, Option ID :- 135,
« 4, Option ID :- 136,

Question ID:- 35
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Choose the Venn diagram from the options which represents the correct relationship amongst the
given classes :

Men, Singers, Women
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feu 7u fasredi § 9 UF 99 0@ &1 974 Sifed o fgu 0 avf & o9 9E g9y & guidar g :

Options:-

«1, Option ID :- 137,
=« 2, Option ID :- 138,
« 3, Option ID :- 139,
= 4, Option ID :- 140,

Subject : CL_Q36-Q40_PGTBIO
Question ID:- 36

Which shortcut key combination prints a documents in MSWord ?

(1) Shift+P
(2) Ctl+P
(3) Alt+P
(4) Space + P
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T TY-9S H§ HH-91 EFe i qaeE fedt stagde o1 fife a2

(1) Shift+ P
(2) Ctrl+P
(3) Alt+P
(4) Space +P
Options:-

«1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,
« 4, Option ID :- 144,

Question ID:- 37

Which one of the following errors will be handled by an operating system ?

(a) lack of papers in printer
(b) power failure

(c) wirus protection

(1) (a), (b) and (c)

(2) only (a) and (c)

(3) only (a) and (b)

(4) only (b) and (c)

forelt sifoefen fasen g/ & 9t e (TR) |/ e s & 2
(a) iz ¥ Y wH

(b) TR T B

(c) TP 9 A

(1) (), (b) 3T (c)
(2) Had (a) 3R ()
(3) dd (a) #R (b)
(4) A (b) 3R ()
Options:-

«1, Option ID :- 145,
« 2, Option ID :- 146,
« 3, Option ID :- 147,
= 4, Option ID :- 148,

Question ID:- 38
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A MS-PowerPoint presentation is generally saved with an extension (Choose the most appropriate
one from the following options) :

(1) -ppx
(2) .ppc
(3) -ppt
(4) .ppm

Toret qreR—aige yEfd =1 QI U TR o g1 He foran s ® (Fefafed § & waifas soge

1 TFHF HW) :
(1) .ppx
2) .ppc
(3) -ppt
(4) .ppm
Options:-

«1, Option ID :- 149,
=« 2, Option ID :- 150,
« 3, Option ID :- 151,
=« 4, Option ID :- 152,

Question ID:- 39

What is the full form of VDU ?
(1) Visual Display Unit

(2) Versatile Display Unit

(3) Visual Depth Unit

(4) Visual Detail Unit

& € g (VDU) = U =19 1 & ?
(1) Tfogsma feret gfte

(2) @deEd fewm gfe

(3) fogee s= gfe

(4) Tosera feea gfe
Options:-

«1, Option ID :- 153,
» 2, Option ID :- 154,
« 3, Option ID :- 155,
« 4, Option ID :- 156,

Question ID:- 40
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Which of the following statements is false ?

(1) Windows offers various text-editing software like Wordpad and Notepad

(2) Notepad files have the extension xtf

(3) Wordpad can be used to create letters, notes which use basic formatting

(4) Word has the maximum formatting feature as compared to Notepad and Wordpad

Frefafas | F =i o e 98 T8 82

(1) TiEm aEie 3R Frie 59 s TR Areaal ST & ¢ |

(2) Hreie ThIEE w1 TSI rtf ¥

(3) TS oy e, e ar  fon s wshar € o afues wfdn g 2 2
(4) FrRUe IR g€ ®i go H 9 § sifesran wfen favmad (wed) B €
Options:-

«1, Option ID :- 157,

« 2, Option ID :- 158,

« 3, Option ID :- 159,
« 4, Option ID :- 160,

Subject : UL_Q41-Q55_PGTBIO
Question ID:- 41

Which one of the following would ensure School - Home continuity ?
)  Empowering the teacher

) Regular supervision

)  Effective cultural activities

4) Regular participation of parents and social workes in school programmes

1
2
5

—— — — —

frifera § & forad faamem e =1 gae gfafesa 2m?

(1) SASAYH Tl FIHTHLT

(2) Trafag waam

(3) YwmET WiEpfae HrEwey

(4) Toemer & wrdwH | wE-faar Sk qrfses srfwdistl st fFafra smier

2

Options:-

«1, Option ID :- 161,
« 2, Option ID :- 162,
« 3, Option ID :- 163,
« 4, Option ID :- 164,

Question ID:- 42
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The socio-emotional learning in the process of ’
(1) Development of self control

(2) Enhancement of linguistic ability

(3) Self Development

(4)  Self Discipline

HrHTfSTR-vaTedes Aty feifea # 9 frae wsa €2
(1)  sreA-Tasmn &1 fasrd

(2) TOE-ATIET T ST

(3) ATH-IAH

(4) SATH-HAIAEA
Options:-

«1, Option ID :- 165,
=« 2, Option ID :- 166,
« 3, Option ID :- 167,
= 4, Option ID :- 168,

Question ID:- 43

Which of the following would ensure socio-emotional learning ?

(1) Discipline

(2) Punctuality
(3) Relationship
(4) Positive attitude

Freifera ® | foraes arefore- e stferm gfafesm @ ?

(1) STgRmEe

(2) HHFfT=ar

(3) Hay

(4) HERHF Afughd
Options:-

«1, Option ID :- 169,
« 2, Option ID :- 170,
« 3, Option ID :- 171,
« 4, Option ID :- 172,

Question ID:- 44
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"NCPFECCE’ of NEP-2020, covers :

(1) Pedagogical framework for 0 - 3 years
(2

(3
(4

) Pedagogical framework for 0 - 8 years
) Pedagogical framework for 3 - 14 years
)

Pedagogical framework for 1 - 15 years

¢ foren =ifd, 2020 # Sfeerfed ‘w7 & @ e S W W H wive €

(1) 0-3ad = ferenferi & fou foammsia s
(2) 0-87d % faenfeE & fou freammsia s
(3) 3-14 94 & faenfefai & fou femmsi= suwE
(4) 1-1599 & faenfai=i < fou amrsia s

Options:-

«1, Option ID :- 173,
« 2, Option ID :- 174,
« 3, Option ID :- 175,
= 4, Option ID :- 176,

Question ID:- 45

NCF-2005 mainly recommended :

1) Reducing Teacher-Pupil ratio

) Connecting knowledge to life outside the school
) 25% reservation for EWS

) Development of school Infrastructure

CEE )

(
(
(
(4

T WAl T (T H ), 2005 H geE: @ i a0 ?
(1) AT STU 1 921

(2) F R faener™ & sl & Uiy ¥ gag F:E

(3) o7 w9 H FHue a7 & faunfei & forw 25% sme =i giasn &
(4) Tommer =t s 1 fasms

Options:-

«1, Option ID :- 177,
« 2, Option ID :- 178,
« 3, Option ID :- 179,
« 4, Option ID :- 180,

Question ID:- 46
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(1) Hearing + Understanding

(2) Sensation + Hearing
(3) Reasoning + Hearing
(4) Listening + Reasoning

foneq wefoe % 1R * ofemiy ! (wedeon) ¥
(1) & iR qo

(2) e SR gam

(3) Tehdfg iR gam

(4) & AR THIfS

Options:-

«1, Option ID :- 181,
« 2, Option ID :- 182,
« 3, Option ID :- 183,
=« 4, Option ID :- 184,

According to Education Psychology the “perception’ is :

Question ID:- 47

What could be the reason for under achievement of the child ?
(1) Lack of parent support

(2) Undesirable environment
(3) Lack of proper guidance
(4) Poverty

AT o UL % STIEY YROMH el < o1 F1 HR §1 Hhdl @ 7
(1) w7 Tqar =1 Hed[ &l 9T &1

(2) Agifed (faT) AR
(3) 3fua wrieeiE = AvE
(4) Faefan

Options:-

«1, Option ID :- 185,
« 2, Option ID :- 186,
=« 3, Option ID :- 187,
« 4, Option ID :- 188,

Question ID:- 48
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Who Propounded Two-fold personality of extravert and Intravert ?

(1) Adler
(2) Jung
(3) Freud
(4) Rogers

- ST el s SR sinde fagi % wEE 1 97

(1) Teei
(2) =W
(3) hIEE
(4) U=
Options:-

«1, Option ID :- 189,
» 2, Option ID :- 190,
=« 3, Option ID :- 191,
« 4, Option ID :- 192,

Question ID:- 49

Who conducted experiments to eradicate the emotional fear among the children ?

(1) Watson
(2) Skinner
(3) Freud
(4) James

Akl H WEHTHF 9 =l g1 #d o fag feiferd § § forea wam feran =12

(1) =resd
(2) =
(3) WHES
(4)
Options:-

«1, Option ID :- 193,
» 2, Option ID :- 194,
« 3, Option ID :- 195,
« 4, Option ID :- 196,

Question ID:- 50
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Name the technique to study interpersonel relationship among the children.
(1) Barometry

(2) Sociometry
(3) Psychometry
(4) Sociogram

g § 3iq:Safades Gae 1 316999 H #I awAre (ufafa) = e am g2

(1) =afafq
(2) HHEIEE
(3) WA
(4) HifvERm
Options:-

«1, Option ID :- 197,
« 2, Option ID :- 198,
« 3, Option ID :- 199,
« 4, Option ID :- 200,

Question ID:- 51

Which of the psychological defence mechanism invents excuses to explain his/her own failure ?
(1) Rationalisation

(2) Regression
(3) Identification
(4) Fantasy

I =E 1 STERea (Tawer) i T & & e 97 s=re | W Taseh Wialel J e

27
(1) Fraretor (g a= )
(2) wfaTH
(3) TR
(4) FHUE-FHEq
Options:-

«1, Option ID :- 201,
=« 2, Option ID :- 202,
=« 3, Option ID :- 203,
« 4, Option ID :- 204,

Question ID:- 52
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The term “Gestalt’ refers to :
(1) Integrated whole

(2) Stimulus-response
(3) Programmed learning
(4) Canditional learning

‘S’ 9g 1 A feifed § 8 R ® 2

(1) Wi |y

(2) SErE-STIRH
(3) Fefer eifermm
(4) e s
Options:-

«1, Option ID :- 205,
=« 2, Option ID :- 206,
« 3, Option ID :- 207,
= 4, Option ID :- 208,

Question ID:- 53

Which one of the following is ‘non-invasive” ?
(1) Biological therapy

(2) Psychotherapy
(3) Radiotherapy
(4) Chemotherapy

freifera & & =0 T-ssme § 7

(1) Sfaw 3=ER

(2) w1 fafEwan

(3) fea fafean

(4) FEER (EEE fafem)
Options:-

«1, Option ID :- 209,
« 2, Option ID :- 210,
« 3, Option ID :- 211,
« 4, Option ID :- 212,

Question ID:- 54
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Which one of these lead to indiscipline among students ?
1) Poor Home environment

2) Biased attitude of teachers towards students

3) Lack of support from school

4) Communal Tension

Freifera § & foraes uftomy ey faenfefal & srqemeei=ar sam g € 2
(1) & %I B O

(2) eveTaRi o faanfef=i & ufq gargregol @
(3) Tormers & w1 S19E
(4) HHEES T

Options:-

«1, Option ID :- 213,
=« 2, Option ID :- 214,
« 3, Option ID :- 215,
=« 4, Option ID :- 216,

Question ID:- 55

Which one of the following would form emotional support to school ?

(1) Quality of feedback

(2) Good learning strategies

(3) Positive connection among teachers students and parents
(4) Achievement of students in exams

Teiferd § 4 foraeh werersy foamerd § qiaereas Heel a9 8 2
(1) wfrgfie (wiess) &I qoEm

(2) 9 st wEEfa ()

(3) reATyeRTY, faenfed &R wia-fadr & " 2o Hee

(4) odaEnsl H feranferdl 1 Sucret

Options:-

«1, Option ID :- 217,
« 2, Option ID :- 218,
« 3, Option ID :- 219,
« 4, Option ID :- 220,

Subject : UTL_Q56-Q70_PGTBIO

Question ID:- 56
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‘Environment” is an element of

(1) Behaviourism

(2) Constructivism
(3) Realism
(4) Connectivism

‘qterer’ T § § e ae & 2

(1) =EEraT
(2) TEAER
(3) FUdER
(4) HEHETE
Options:-

«1, Option ID :- 221,
« 2, Option ID :- 222,
« 3, Option ID :- 223,
« 4, Option ID :- 224,

Question ID:- 57

Which one of the following would enhance learning in classroom ?
(1) Lecture method

(2) Questioning technique
(3) Useof AV aids
(4)  Use of black board

Frifera o 9 forad en o safenmy o1 HagH 2 & 2
(1) = fafy

(2) ¥ dHAE

(3) I T IUH

(4) =ARAS H AR
Options:-

»1, Option ID :- 225,
=« 2, Option ID :- 226,
« 3, Option ID :- 227,
= 4, Option ID :- 228,

Question ID:- 58
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“The learners are involved in reflecting of their own experiences’. Which theory of learning would
you think in this case ?

(1) Perspective learning

(2) Constructive learning
(3) Behavioural learning
(4) Congnitive learning

* sifepTaeRdl oT0e W@ % Syd W faw § 9w 21 ot gfie § w8 fe war o sfu fagia 82

(1) weef s

(2) el A
(3) SHEBRAE AT
(4) HaemEr s
Options:-

«1, Option ID :- 229,
=« 2, Option ID :- 230,
« 3, Option ID :- 231,
« 4, Option ID :- 232,

Question ID:- 59

What type of relationship between teacher and student would enhance learning ?
(1) Cordial relation

(2) Emotional relation
(3) Official relation
(4) Social relation

sreaTaeR 3R faenedf & wen form R & Hew 9 safar =1 G 2 ?

(1) HER d9d9y

(2) WTEFTCHS Haig

(3) R Heay

(4) HHIS* G4
Options:-

«1, Option ID :- 233,
« 2, Option ID :- 234,
« 3, Option ID :- 235,
= 4, Option ID :- 236,

Question ID:- 60
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Which one of the following would form better classroom environment ?
(1) Give a student voice and choice

(2) Smooth talking

(3) Well ventilated

(4) Comfortable furniture

Fr=ifera & 9§ fred e o Sear wére &1 fmior g ?
(1) Toendt =t sfyeafam ok faseg 1 /@R &

(2) HIE €I H FAeny

(3) SUH @A

(4) FARTHE Frl=
Options:-

«1, Option ID :- 237,
= 2, Option ID :- 238,
« 3, Option ID :- 239,
= 4, Option ID :- 240,

Question ID:- 61

Which one of the following would affect learning in classroom ?
(1) Well designed curriculum

(2) Good time table
(3) Good Principal
(4) Air conditioned classroom

Treifera 5 9 forad e 1 sifer wafes grm 2
(1) Y-sfuwfeaa area=ai

(2) ITH 99T HRON

(3) UM W=

(4) TRl el
Options:-

«1, Option ID :- 241,
« 2, Option ID :- 242,
« 3, Option ID :- 243,
« 4, Option ID :- 244,

Question ID:- 62

33 0f 102

07-Mar-23, 10:02 PM



(1) Dbetter understanding of nature

2)  better insight on living condition of animals
3) appreciation of the learner towards nature
)

4) good enjoyment

Tt &9 H fafearer % Seforr S 9 @ giafeaa gm?
) T T TR Y

2) Sfwgell T ST g9 & e H SEat saghe

)

)

ITH 3HS

Options:-

«1, Option ID :- 245,
=« 2, Option ID :- 246,
« 3, Option ID :- 247,
= 4, Option ID :- 248,

An educational tour to a zoo in local area would ensure :

Question ID:- 63

On visiting forest, the child will be able to develop
(1) imagination power

(2) thinking ability
(3) expression power
(4) self-exploring capacity

(1) eg g

(2) o em=ar

(3) sAfveafa amdr

(4)  SAA-TRIEOT &7FeT (- STe00T &)
Options:-

«1, Option ID :- 249,
« 2, Option ID :- 250,
=« 3, Option ID :- 251,
« 4, Option ID :- 252,

T 1 AT o qYEd dleth o feifehd H 9 ohid 91 01 faesfad g ?

Question ID:- 64
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What do you mean by ‘learning space” in school ?
(1) Well ventilated classroom

(2) Comfortable desks
(3) Well set classroom with non-threatening environment
(4) ICT tools in classroom

‘arfirmg R’ (ST E9) 9 e = aead @ 2

(1) 399 arEa g Hal

(2) SIRTHGE 2%

(3) wEfEd HiEte H gHfsd

(4) e ¥ o1 | & swHm
Options:-

«1, Option ID :- 253,
« 2, Option ID :- 254,
« 3, Option ID :- 255,
= 4, Option ID :- 256,

Question ID:- 65

What is the purpose of curriculum in school ?
(1) To standardize learning goals

(2) To complete syllabus in time
(3) To achieve instructional objectives
(4) To conduct exam in time

Torarmei 4 wre@=ai =1 #1 JEsH @ 7
SAfePT e 1 RIS

)
(2)
(3) STRVCHF Jewl BT
(4) T T GHENS] T SAESH
Options:-
«1, Option ID :- 257,
« 2, Option ID :- 258,
« 3, Option ID :- 259,
« 4, Option ID :- 260,

Question ID:- 66
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What is an essential feature of curriculum ?

(1) Gaining knowledge
(2) Skills in application of knowledge
(3) Getting good marks
(4) Understanding the subject
aieF=Al i sifar fadm e ?
(1) S
(2) FH F STAR Ha Hea
(3) T 9Tk
(4) o =t 5
Options:-

«1, Option ID :- 261,
=« 2, Option ID :- 262,
« 3, Option ID :- 263,
= 4, Option ID :- 264,

(1)

I

(2)
(3)
(4)

Question ID:- 67

When the children are directly exposed to the situation, the learning would be :

Natural learning
Connectivistic learning
Experiential learning
Realistic learning

e SIeTh bl Toder: et | Sg wifa e s ® o ge sifrmg 5 TR ot F o ?

(1) w=vifaes sfErm
(2) Hed sifer

(3) HAWESTH AferTH
(4) =rfer st
Options:-

«1, Option ID :- 265,
« 2, Option ID :- 266,
« 3, Option ID :- 267,
« 4, Option ID :- 268,
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The following would empower the child in classroom :
(1) Constructivism

(2) Behaviourism
(3) Realism
(4) Connectivism

it 9 9 forad Fan w81 T Seisd 1 Aol 8T 2

(1) TEAER
(2) THIRRERE
(3) FgEaR
(4) HHHERG

Options:-

«1, Option ID :- 269,
=« 2, Option ID :- 270,
« 3, Option ID :- 271,
= 4, Option ID :- 272,

Question ID:- 69

What do you think of major demerit of ICT tools in classroom ?
(1) Reduces creativity

(2) Straining of eyes
(3) Less socialisation
(4) Addiction to technology

HeqT H og i 2 SUHUT o Y@ Y 7

(2) SiME W TEE |

(3) HTHISIHT & g4 |

(4) UTENTTERT 1 e
Options:-

«1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,
« 4, Option ID :- 276,

Question ID:- 70
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Why feedback system is necessary in classroom ?

(1) To understand potential of teacher

(2) To measure learning level of students

(3) For self improvement of teacher and student
(4) Administrative requirement

ey Tigesh Toieq i Savd € ?

(1) Torers =t e =1 993

(2) Ternfel & srferm w2 =1 oo

(3) Tonerani of ferenfefdl &1 2mmen o

(4) YU ade
Options:-

«1, Option ID :- 277,
=« 2, Option ID :- 278,
« 3, Option ID :- 279,
= 4, Option ID :- 280,

(1)

SE

(2)
3)
(4)

38 0f 102

Subject : CCLE SOL PE_Q71-Q80_PGTBIO
Question ID:- 71

What is ‘Manodarpan’ recently launched by MOE :

To support students for academic learning

Counseling given to students for Board Exams
Guidance to the students for competitive exam

To support the students suffering from mental disorder

Tare wamerg gRT B € H I foRen T Hed e e 2

(1) Tomnfeld % Sweafores siferm & w2 s

(2) e @l wenedi % fore faenfei w1 ool

(3) o wdien % fore fommeri 1 ArteyE

(4) THfEer faer § ueq faanfer & 9edm yem &
Options:-

«1, Option ID :- 281,
=« 2, Option ID :- 282,
« 3, Option ID :- 283,
= 4, Option ID :- 284,

Question ID:- 72
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Lack of professional counselors in schools leads to :
(1) Increasing mental illness among children

(2) Decreasing interest on studies
(3) Low level of motivation
(4) Less participation in games & sports

Toraeri # =AmEEs TUEREIE ®i ST & HerEey |
(1) =TTt § A Eora & qa § 9fg 8 @ R

(2) faenfeli =t veE § s Fm & @ )
(3) I TR H BH A WR

(4) T Fg H HY et |

Options:-

«1, Option ID :- 285,
=« 2, Option ID :- 286,
« 3, Option ID :- 287,
= 4, Option ID :- 288,

Question ID:- 73

How can you make community as a learning resource ?

(1) Through cinema hall

(2) Taking children to wedding function

(3) By taking children to local community centres like Post Office and Bank
(4) Tékjng children to a public meeting

319 foFe YRR WHEE &I A HEET o9 Fehd § 2

(1) o= gfa g

(2) ikl =i foreTe WuRE H o SRR

(3) ETCTEhI 1 T WSS Fg Fo1 SoeR 3R §& o St
(4) SRl Sl ST AT o ST

Options:-

«1, Option ID :- 289,
« 2, Option ID :- 290,
« 3, Option ID :- 291,
« 4, Option ID :- 292,

Question ID:- 74

39 0of 102 07-Mar-23, 10:02 PM



What is the important character of school leader ?
(1) Aggression

(2) Qualification
(3) Co-operation
(4) Conviction
ferermer™ = a1 =1 FewEy IO e ?
(1) IhiEF ==
(2) FrFal
(3) HEEA
(4) g TST-Wf
Options:-

»1, Option ID :- 293,
=« 2, Option ID :- 294,
« 3, Option ID :- 295,
=« 4, Option ID :- 296,

Question ID:- 75

The following key phrase could be attributed to peace setter leadership.
(1) ‘Ican do it better’

(2) ‘Letus dream big and set standard’
(3) ‘Let me teach you how it is done’
(4) ‘Idirect you follow

Freifera § & forg mecrgul wesiy § ‘wifa-zenfud =2 et g’ aRerte g § 2
(1) H 39 a3 9 L Tl §

(2) T FE @S oE Aoy AR 7 i wmen e
(3) H STvehl S E A8 Sy foRE S # )
(4) H = <@ § 29 SR UIeH Hif |

Options:-

«1, Option ID :- 297,
« 2, Option ID :- 298,
« 3, Option ID :- 299,
« 4, Option ID :- 300,

Question ID:- 76
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(1)
(2)
()
(4)

What should be the essential quality of leader ?

Accountability
Flexibility
Rigidity
Inspiring others

e Freiifd 8 | T sifERd o e e 2

(1) SEmEeE

(2) =T

(3) SN

(4) o= =AfFEl 1 U
Options:-

«1, Option ID :- 301,
=« 2, Option ID :- 302,
« 3, Option ID :- 303,
= 4, Option ID :- 304,

Question ID:- 77

What is the role of PTA in school ?

(1) To give constructive suggestions for school development
(2) To find fault with school programs
(3) To attend school programs
(4) To discuss the student problems with the management
former © sifysas- e §9 @ e ?
(1) Tourer & fasm & fau @a©aS go@
(2) fToemem & wrdEs | <9 e
(3) Tomnem = wrEA | 9 T
(4) geiuA & Ty fornfern =1 wwen % Hey H fams
Options:-

«1, Option ID :- 305,
« 2, Option ID :- 306,
=« 3, Option ID :- 307,
« 4, Option ID :- 308,

41 of 102

Question ID:- 78

07-Mar-23, 10:02 PM



Who prepared National Curriculum Frame-work 2005 ?

(1) UGC
(2) CBSE
(3) NCTE
(4 NCERT

(1) Tovafaerea srem smEm

(2) = meArEE e ae

(3) Ui sreATaR e gfteg

(4) T Nefres sHEH wd gie uftg
Options:-

«1, Option ID :- 309,
=« 2, Option ID :- 310,
« 3, Option ID :- 311,
=« 4, Option ID :- 312,

Question ID:- 79

What is “‘ECCE’ according to NEP 2020 ?
(1) Elementary Childhood Centre and Education

(2) Early Childhood Care and Education
(3) Essential Childhood Care and Education
(4) Emotional Childhood Care and Education

¢ e +fifd, 2020 F SR A HEFME?
(1) TelHed AEress Hed e UshyH

(2) Al =ETSES FAL IS THYA

(3) sHfHE drsTege FI WS THIA

(4) SHYF FBESES HAL TS TR
Options:-

«1, Option ID :- 313,
« 2, Option ID :- 314,
« 3, Option ID :- 315,
« 4, Option ID :- 316,

Question ID:- 80
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RTE Act 2009 came into effect from :
(1) T8¢ April 2009

(2) I5t June 2009

(3) I°' April 2010

(4) Tt July 2010

Toreq =1 etfererr efafam 2009 e @r] ge11?

(1) 1 31, 2009
(2) 1 S, 2009
(3) 1 @Wd, 2010
(4) 1 S, 2010
Options:-

«1, Option ID :- 317,
=« 2, Option ID :- 318,
« 3, Option ID :- 319,
= 4, Option ID :- 320,

Subject : BIO_Q81-Q180_PGTBIO
Question ID:- 81

Read the Assertion (A) and Reason (R) carefully and choose the correct option.
Assertion (A) : Multicellular epidermal hairs are present in primary roots.

Reason (R) : The root hairs help in water and mineral absorption from soil.
(1) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explanation of Assertion
(A).

(2) Both Assertion (A) and Reason (R) are true but Reason (R) is not correct explanation of
Assertion (A).

(3) Assertion (A) is true but Reason (R) is false.
(4) Assertion (A) is false but Reason (R) is true.

Trefafen s1fimre wd %Rl 1 eargd® gfeu qo1 9el foked 1 997 Hifsu)
sifueher : Tafs gor o ag@ifves arieEE 9 26 8

HIOT : ol U9 981 ¥ 5e 941 WSt % S1awiyor § T w9 §

(1) AR T HROT SH T €, TR T, AR F HE e
(2) AFYERYA Tu1 HIOT A Hel €, TG THNOT, AFHRA i Fel same 78 ¢ |
(3) SfueRer TEl 7, T HTYOT e ¢ |

(4) AR T T, T, HIOT e |

Options:-
«1, Option ID :- 321,
« 2, Option ID :- 322,
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« 3, Option ID :- 323,
= 4, Option ID :- 324,

Question ID:- 82

| Observe the V. of a dicotyledonous leaf given below and correctly identify the part labelled as

A, Band C.
A
Xylem Adlamall
epidermis
Phloem :
J'ﬂ..’-
T"“‘:* D 5 =T e }”
':.-_'. _'-’_".-', ::“:"" B
Ak LT NRALEAS:
edkeds i AR g
LLS . ] ‘ i
e S ALV kA
3 e . g Air cavity
..:_.... i . ) ‘. . s i
% SN L PGS
T S L] C
‘ ) erf— Sub-stomatal
cavity

1) A = Bundle Sheath, B = Palisade Mesophyll, C = Spongy Mesophyll.

2) A = Bulliform

4

Options:-

«1, Option ID :- 325,
= 2, Option ID :- 326,
« 3, Option ID :- 327,
« 4, Option ID :- 328,

cell, B = Guard cell, C = Stoma.

(

(2)

(3) A = Bundle Sheath, B = Bulliform cell, C = Stoma.
(4) A = Bulliform cell, B = Bundle Sheath, C = Stoma.

Question ID:- 83

[ In the question given below two statements are marked as Assertion (A) and Reason (R). Select

the correct answer from the codes given below :

Assertion (A) : Endosperm, a product of triple fusion during sexual reproduction, is not observed

mn

Reason (R) :

the mature seeds of some plants, such as legumes.

Such plants are not angiosperms because presence of endosperm following triple
fusion during double-fertilization is an essential characteristics of a flowering

plant.

Analyse the Reason (R) provided to the Assertion (A) and choose the correct alternative from the

following :

(1) Assertion (A)

is correct but the Reason (R) is incorrect.

)  Both Assertion (A) and Reason (R) are correct.

(2
(3) Assertion (A)
(

is incorrect but Reason (R) is correct.

4)  Both Assertion (A) and Reason (R) are incorrect.
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Frfafad we # €1 weF ifueRed (A) T8 %R (R) & €9 H fau 7o §)

= fou 7Y 2 § Wl I I TEHH HIfSw)
AT (A) : YUY S AF IS % SRE -dHerm w1 gfawe B © 98 $9 UIRY A1 oFgH o+
qftges & H Tl o |

HTUT (R) : T Uy Srgsrs 78 g @ iifer f5-fiem & e f-dam & gvar god st
Iufeafa qferd 2 a1et Tey it stfard faea 26t 81

STF % SUR T HEl 3T FH |

(1) AR (A) W@ &, g SIoT (R) e 7 |
) (A) 3R (R) A T& 7

(3) (A) TR B, forg (R) WET 2

(4) (A) 3R (R) EH Terd 2|

Options:-

«1, Option ID :- 329,
=« 2, Option ID :- 330,
« 3, Option ID :- 331,
=« 4, Option ID :- 332,

Question ID:- 84

Which of the following is/are not a feature of chordates ?
(A) Presence of notochord.

(B) Presence of ventral nerve chord.

(C) Presence of pharyngeal gill clefts.

(D) Animals are diploblastic.

(E) Animals are coeleomates.

Select the correct answer from the options given below :
(1) (A), (B) and (D) only

() (B), (C) and (E) only

(3 (B)and (D) only

(4) (D) and (E) only
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frafafeg 8 9 5w &1 a8 T8 © 2

(A) FRERS T Il

(B) 1™ difarert T o ufeafa
(C) vt wreim ol ot Sufearfa
(
(

D) wifr fawadr g €

E) Wit wE En §

Frfafad fawedl # @ 98t 390 & 997 |
(1) ad (A), (B) ‘(C)

¢) W()(C) T (E)

(3) 9@ (B) T (D)

(4 A (D) T (E)

Options:-

«1, Option ID :- 333,
« 2, Option ID :- 334,
« 3, Option ID :- 335,
« 4, Option ID :- 336,

Question ID:- 85

Match the plant movements mentioned in Column - A with the stimulus that guides them in

Column - B.

Column-A
(A) Absence of light (i)
(B) Heat (ii
(C) Touch (iii
(D) Water Stress (iv)

Choose the correct Code.

(1) (A)-), (B)-(ii), (C)-(iti), (D)-(iv)
(2)  (A)(i), (B)-(v), (C)-(if), (D)-(1)
(3)  (A)-(), (B)-(i), (O)-(iv), (D)-(iii)
(4)  (A)-(v), (B)-(iid), (O)-(i), (D)-(ii)

[ =3
T

Column-B
Hygronasty
Thigmotropism
Skototropism
Thermotropism
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wWy-1 1 3fefEd ueu g9 %1 3% Uid & arel 369 wWY-11 § gafad s

-1 wWY-11
(A) &N H FHE (i) BRIl
(B) 3 (i) forARIH
(C) vl (i) I
(D) S gfaed (iv) A
et e gfu
(1) (A)-(), B)-(), (O)-(ii), (D)-(iv)
(2)  (A)-(iii), (B)-(iv), (C)-(i), (D)-(1)
(3)  (A)-G), (B)}-(3), (O)-(iv), (D)-(iii)
(4)  (A)-(iv), (B)-(iii), (C)-(1), (D)-(ii)
Options:-

«1, Option ID :- 337,
« 2, Option ID :- 338,
« 3, Option ID :- 339,
« 4, Option ID :- 340,

Question ID:- 86

In striated muscle fibre the composition of thick and thin filament is mentioned below :

(A) Thin filament is made up of F-actin, tropomyosin and troponin.
(B) Tropomyosin remains wrapped around myosin molecule in thick filament.

(©) Myosin head of the thick filament forms a cross bridge at the active site present on thin

filament.
Select the correct answer from the above choices from options given below :
(1) (A) and (B) of the above
(2) (A) and (C) of the above
(3) (B) and (C) of the above
(4) All of the above (A), (B) and (C)

IfEa et % T2 Ud uae dq w1 GLEEl A" € T )

(A) TN dg F-UfeRd, S vd S o e aa ¥

(B) ZrimwmEIfEs Hie dq § HrefEd & =Rl o ferger e g1

(C) Hie g 1 " fag uael 9q W Sufied Aieh e & W i 9g 991 © |
o fgu e foshedi § ¥ IUiad U H 9 Wet S FH T hi |

(1) S H ¥ (A) T (B)

(2) SEFHH (A) T Q)

(3) I H H (B) T (C)

(4) 3T 9t (A), (B) T (C)

Options:-
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«1, Option ID :- 341,
« 2, Option ID :- 342,
« 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 2, Option ID : -342

Question ID:- 87

Which of the following feature is incorrect for chordates ?
(A) Solid and dorsal nerve cord.

(B) Presence of post anal tail.

(C) Gill slits are present only in embryonic stage.

Select the correct answer from the options given below :

(1) (A) and (B) of the above.
(2) (B) and (C) of the above.
(3) (A) and (C) of the above.
(4) (C)and (D ) D) of the above.

wise & sial o fau fFrefafag § § SH-9 a0 7o © 2
(A) 2 Td gEiE dhe TS

(B) UTEEl YD i Sufeafd

(C) THaet yvita A § i fogi & sufeefd

e T T W SR A1 F o e
== feu e fashedi § ¥ WEl Sa &1 =94 H |
(1) 39 H 9 (A) T (B)

(2) 3 H ¥ (B) W (C)
(3) 3T H H (A) W (Q)
(4) SWHEHA I ()W (D)

Options:-

«1, Option ID :- 345,
« 2, Option ID :- 346,
« 3, Option ID :- 347,
= 4, Option ID :- 348,

Question ID:- 88
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(D) Notochord is present between dorsal nerve cord and alimentary canal.
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Type of nutrition observed among Monerans are :
(A) Chemisynthetic

(B) Saprophytic

(C) [Parasitic

(D) Autotrophic

Select the correct answer from the following options :
(1) Only (A) and (B) of the above

(2) Only (B) and (C) of the above

(3) Only (A), (B) and (D) of the above

(4) All of the above (A), (B), (C), (D)

(D) Tt

== feu v fashedi H | War 39X &1 =39 H |
(1) 390 H ¥ %9l (A) T (B)

(2) W ¥ 9 Fad (B) TH (O)

(3) T H | Fad (A), (B) T (D)

(4) ST WA (A), (B), (©), (D)
Options:-

«1, Option ID :- 349,

=« 2, Option ID :- 350,

« 3, Option ID :- 351,
= 4, Option ID :- 352,

Question ID:- 89

Identify the diploblastic animal(s) from the following :
(A) Obelia

(B) Ophiura

(©) Adamsia

Select the correct answer from the options given below :

(1) (A)and (B) only
( (B) and (C) only
(3) (A)and (C ( only
(4) (A), (B) and (C)
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Frfafag 5 9 femada wiforl &t ve=m &1 )

(A)  astferar
(B) sifegar
(C) uelagr

= fou u faereul § 9 9E U H gs=H |
(1) hae (A) T (B)

(2) e (B) T (O)

(3) e (A)TE (C)

(4) 39U 94 (A), (B) T (C)
Options:-

«1, Option ID :- 353,
« 2, Option ID :- 354,
« 3, Option ID :- 355,
= 4, Option ID :- 356,

Question ID:- 90

Which of the following is commonly called 'Club-Moss' ?
(1) Lycopodium

(2) Marsilea
(3)  Equisetum
(4) Adiantum

(1) eIEHNETT

(2) ArdEiforan

(3) uFEigeg

(4) Ufeu=H
Options:-

«1, Option ID :- 357,
« 2, Option ID :- 358,
« 3, Option ID :- 359,
« 4, Option ID :- 360,

Question ID:- 91

50 of 102

07-Mar-23, 10:02 PM



Choose the chlorophyllous, heterosporous, strobilus bearing pteridophyte from the following :
(1)  Lycopodium

(2) Selaginella
(3) Equisetum
(4)  Salvinia

Frefafes § ¥ woizfaud, fromeismrgs, e REmee &1 =28 i

(1) @EFTETH

(2)  Henforien

(3) TFEIGeH

(4)  gifeafTar
Options:-

«1, Option ID :- 361,
« 2, Option ID :- 362,
« 3, Option ID :- 363,
= 4, Option ID :- 364,

Question ID:- 92

To which of the following term 'Coenobium' represents ?
(1) A colony of unspecified number of cells.

(2) A colony of specified number of cells.

(3) An aggregate of cells.

(4) A highly branched filamentous structure.

ve ‘foifaay’ fordy frefug s &2
(1) sifafireiea demn el S s S

(2) faforisra e awt Hifversii F wieH
(3) IfsrEmIe 1 G=E
(4) sty wfEd ddel A

Options:-

«1, Option ID :- 365,
» 2, Option ID :- 366,
« 3, Option ID :- 367,
« 4, Option ID :- 368,

Question ID:- 93
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Select the option about the storage form of polysaccharide in animals :
(1) Cellulose

Glycogen

21

(2)
(3) Amylose
(4)

Murein

Sl H diefidEEe H99 Y & faug § fawey gfw)

(1) g
(2) TARRISH
(3) Ufmer™
(4) =R
Options:-

«1, Option ID :- 369,
=« 2, Option ID :- 370,
« 3, Option ID :- 371,
=« 4, Option ID :- 372,

Question ID:- 94

Match the floral formulae given in Column - I with the families listed under Column - II

Column - I Column - II

(A) @ §K2+2 C4 A2 +4 g(z) (i) Liliaceae

(B) % f K{5) C1+2+(2) A(a] I, (_31 (l.l) Solanaceae

& f Ks) @5 Gp) (iii) Brassicaceae
(D) Bre f Pms 45 G'(B) (iv) Fabaceae
Option :
(1) (A)(ii), (B)-(ii), (O)-(iv), (D)-(1)
(2 (A)-(i), B)-(iv), (O)-(1), (D)-(1)
(3)  (A)(H), (B)-(ii), (O)-(iv), (D)-()
(4)  (A)(ii), (B)-(1), (C)-(v), (D)-(ii)
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wWY-1
(D) ©§Ky2Cy Ay+4Gp)
(B) %fK{S) Cli2+@A@+1S1
© ©$KpCehsCy

N
() Bf@fP(3+3) A343 G

(1) (A)-(ii), (B)-(id), (O)-(iv), (D)-(i)
(2)  (A)(i), (B) (W) (C)-(i), (D)-(1)
(3)  (A)(), (B)-(iii), (C)-(iv), (D)-(1)
(4)  (A)(), (B)-(), (C)(v), (D)-()
Options:-

«1, Option ID :- 373,
=« 2, Option ID :- 374,
« 3, Option ID :- 375,
=« 4, Option ID :- 376,

Question ID:- 95

'Floc'is :

freatment.

Options:-

«1, Option ID :- 377,
« 2, Option ID :- 378,
« 3, Option ID :- 379,
« 4, Option ID :- 380,

-1 9 feu 7u goge g3 =l wWY-11 1 Sfefed et 9 gafag wifs)

wWY-11

(2) The primary sludge produced in sewage treatment.
(3) The effluent in primary treatment tank obtained during sewage treatment.
(4) Domestic sewage after filteration and sedimentation.

aifed Hel & SUER § Sfam] iR swas dqail & qeed § o+ Sel St S @

ELCo

(1)

(2) aifed 7t § Searfed mafoe s @

(3) @Ifed A SR F SRF WAl SUER 3% § W U afewd §
(4) T7eigs Ua STedeT % 9eEd Bie 9d §

(1) A mesh like structure formed by the association of bacteria and fungal filaments in sewage

Question ID:- 96
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) Detritus is rich in nitrogen
(2) Detritus is rich in humus
(3) Detritus is rich in sugars
(4)  Defritus is rich in lignin and chitin

Tt fafore SeamEs fefd § sr9ees <X smengq o § =S .

(1) 3TE TS § 9ol §

(2) NG FYHE H T §

(3) TS Wk H gryE ¥

(4) ARE feafa AR wefe § wr= §
Options:-

«1, Option ID :- 381,
=« 2, Option ID :- 382,
« 3, Option ID :- 383,
= 4, Option ID :- 384,

In a particular climatic condition, decomposition rate is slower if :

Question ID:- 97
Diabetes insipidus is caused by :
(1) Deficiency of Insulin
(2) Deficiency of ADH
(3) Excessive secretion of TSH
(4) Excessive secretion of GnRH

(1) egfer =i e

(2) TELTH Ht HH

(3) FLUH.UH F HFAHE HE

(4) SI.ULARTE. F SAYF FE

Options:-

«1, Option ID :- 385,
« 2, Option ID :- 386,
=« 3, Option ID :- 387,
« 4, Option ID :- 388,

Question ID:- 98
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Myasthenia gravis involves weakness of skeletal muscles. Which of the following can act as its
primary treatment ?

(1) Injection of neurotransmitter acetylcholine.
(2) Injection of neurotransmitter adrenaline.

(3) Injection of acetylcholinestiase inhibitor.
(4)

4) Taking protein rich diet.

grefTan Afag ¥ Hoe 1R =t Has e 1 FeEfafeg § SE-m s3 mafts sEr #  w w59

T HFA € 2

(1)  dfrer Uit Ufafeerenieii =1 SSisM
(2) <freR e TfgAfer a1 SieRE

(3) Ufefearfaus HeHs ol SRH
(4) UIEH g HISH TR S
Options:-

«1, Option ID :- 389,
« 2, Option ID :- 390,
=« 3, Option ID :- 391,
« 4, Option ID :- 392,

Question ID:- 99

Which of the following does not favour the formation of large quantities of dilute urine ?
(1) Renin

(2) Atrial-natriuretic factor (ANF)
(3) Alcohol

(4) Caffeine

Trefafed 5 9 o a7 531 & s wen § i & g9eH T8 & ?

(1) I
(2) UgFA-TLgfed FRE (LTI
(3) UehRME
(4) HHHA
Options:-

«1, Option ID :- 393,
« 2, Option ID :- 394,
« 3, Option ID :- 395,
= 4, Option ID :- 396,

Question ID:- 100
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Though the partial pressures (in mm of Hg) of oxygen and CO, in alveoli is 104/40, by the time it
reaches the tissues by diffusion partial pressure of O, and CO, becomes 40/45.

Select a correct reason from options provided :
(1)  The solubility of CO, is 20-25 times higher than O,,.

(2) The diffusion membrane is made up of 3 layers.
(3) The factors in the body are more favorable for CO, than O,.
(4) O, that can diffuse through the diffusion membrane per unit difference in partial pressure is

much higher compared to that of CO.,,.

=

Options:-

«1, Option ID :- 397,
« 2, Option ID :- 398,
« 3, Option ID :- 399,
« 4, Option ID :- 400,

Question ID:- 101

By which one of the following method accumulation of urea in blood, known as uremia, can be
controlled ?

(1) Filtration

(2) Absorption
(3) Hemodialysis
(4) Adsorption

T § 9 & duew @ e’ we s § 1 39 f=ifea |§ § e fafa § e e s e g2

(1) Ti=ea

(2) srEEEm

(3) eHreEfafEd

(4)  sfigireo
Options:-

«1, Option ID :- 401,
=« 2, Option ID :- 402,
« 3, Option ID :- 403,
« 4, Option ID :- 404,

Question ID:- 102
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Emergency hormones like adrenaline and noradrenaline are secreted from :
(1) Hypothalamus

(2) Thyroid

(3) Adrenal cortex

(4)  Adrenal Medulla

TSI T FRUGH STE SRR g Sifer 8 2 :

(1) =FEHITEH

(2) orREEd

(3) TEHS Head H

(4 TEHE T §
Options:-

»1, Option ID :- 405,
=« 2, Option ID :- 406,
« 3, Option ID :- 407,
= 4, Option ID :- 408,

Question ID:- 103

In order to perform a trihybrid cross in which traits selected for the plant of emasculated flower
are tall pea plant having inflated pod and yellow colour seed. Which of the following combination

would be selected for the other plant to transfer pollen grains on the emasculated flower to ensure
Cross pa]]imtion ?

(1) Tall plant having constricted pod and green colour seed.
2)  Dwarf plant having wrinkled seed with green colour seed.

(

(3) Dwarf plant having constricted pod and green colour seed.

(4) Dwarf plant having inflated pod and green colour seed.
Options:-

«1, Option ID :- 409,
« 2, Option ID :- 410,
« 3, Option ID :- 411,
« 4, Option ID :- 412,

Question ID:- 104
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In Drosophila white eye colour is a X-linked mutant trait whereas red eye colour is a dominant wild
type trait. In a cross of Drosoplila white eyed females were crossed with red eyed males what kind
of ratio would one expect among offspring ?

(1) All would be red eyed.
(2) There will be 1:1 ratio of red eye and white eye Drosoplila.
(3)  All male offspring would be white eyed and all female offspring would be red eyed.
(4) There will be 1:1 ratio of red and white eyed female Drosophila and all males would be white
eyed.
B
Options:-

»1, Option ID :- 413,
=« 2, Option ID :- 414,
« 3, Option ID :- 415,
= 4, Option ID :- 416,

Question ID:- 105

In the question given below two statements are marked as Assertion (A) and Reason (R). Select
the correct answer as per code given below the statement.

Assertion (A) : In Meselson and Stahl experiment completely radioactive labelled DNA isolated
from bacteria gave band in the higher density region in comparison to unlabelled
DNA.

Reason (R) : Radioactive nitrogen >N contains extra electron and hence it is heavier than
normal nitrogen.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explantion of (A).
(3) (A)is true but (R) is false.

(4) (A)is false but (R) is true.

= few o g H & o E U ifueRe (A) SR THU SIROT (R) FEEl & A R T Fe F SER g

IR &1 4T B

AU (A) :  TerEA TE el o AT SRR § gues e e ol sy & g fafsa DNA #
S fam fafed DNA &t gorm & 3= o aret &3 § o

A (R) : et e 15N # sAfafte s 2 € o7 9% WH= "AEeier § 9 B €

(1) (A) 3R (R) SHI W&l &, 3R (R), (A) FI F T £ |

(2) (A) 3R (R) SHI W& &, 3R (R), (A) 1 T Tt 72 2

(3) (A) T&l 8, 9 (R) T B

(4) (A) 7TeTd &, 9% (R) TE 2|

Options:-

«1, Option ID :- 417,
« 2, Option ID :- 418,
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« 3, Option ID :- 419,
= 4, Option ID :- 420,

Question ID:- 106

Which of the following statements does not hold true for a genetic code ?
(1) Sequence of genetic code on a mRNA is overlapping,.

&
(3) There are many amino acids which are coded by more than one codon.
(4)

One specific genetic code never codes for more than one amino acid.

There are few codons which do not code for any of the amino acid.

R e & fou faefafad § 9 ®HE-91 %97 59 781 & ?

(1) mRNA % IR AR Fe o1 w9 arfqord g |

(2) U fafore siafos e uw | sifis THAT o7 &1 H¥t HIS 7@l B 2
(3) T e U o § e e ok & siferes ye §

(4) TH F© FH & o fmdl off THA o7 o fore e o1 o 72 od )

Options:-

«1, Option ID :- 421,
« 2, Option ID :- 422,
=« 3, Option ID :- 423,
« 4, Option ID :- 424,

Question ID:- 107

' Tn which of the following situations of blood group of parents, AB- blood group is not possible

among offspring ?

(A) Father with B and Mother with AB blood group.
(B) Father with O and Mother with AB blood group.
(C) Father with A and Mother with B blood group.
Select the correct answer from the options given below :
(1) (A) and (B) of the above

(2)  Only (B) of the above

(3)  Only (C) of the above

(4) (B) and (C) of the above
Options:-

»1, Option ID :- 425,
= 2, Option ID :- 426,
« 3, Option ID :- 427,
= 4, Option ID :- 428,
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Question ID:- 108

-

Which of the following statements is/are incorrect about the process of polypeptide chain synthesis
or translation ?

(A) tRNA charged with amino acids are first attached with the mRNA.
(B) Direction of the synthesis of polypeptide chain on mRNA is 5' —3' direction.

(C) Initiation of translation involves interaction of mRNA and smaller as well as larger subunit
of ribosome simultaneously.

Select the correct answer from the options given below :
(1) (A) and (B) of the above

(2) (A) and (C) of the above

(3) (B) and (C) of the above

(4) Only (A) of the above

Options:-

»1, Option ID :- 429,
« 2, Option ID :- 430,
=« 3, Option ID :- 431,
« 4, Option ID :- 432,

Question ID:- 109

Which of the following organisms expresses female heterogamety for sex-determination ?
(A) Birds

(B) Grasshoppers

(C) Drosophila

(D) Moths

Select the correct answer from the options given below :

(1) (A) and (B) of the above
(2) (A) and (D) of the above
(3) (B) and (D) of the above
(4) (C) and (D) of the above
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Frfafes | @ frg sitg gra fein frefon &g arer faom grgar gomt smit € 2
(A) uaf

(B feg

(C) gigiftrer

(D) 9Teiq

== fou e fosredi # | HE I F1 99 HL
(1) 3yl § ¥ (A) UF (B)

2) SRFHA A) W (D)

(3) 39U 9 (B) W (D)

(4) SWHFF C) ™ (D)

Options:-

«1, Option ID :- 433,

« 2, Option ID :- 434,

« 3, Option ID :- 435,

= 4, Option ID :- 436,

Question ID:- 110

=

Which of the following is incorrect statement(s) about phylogenetic system of classification ?
(A) This is based on relationship of organisms from the perspectives of their evolution
(B) This is based on mere morphological similarities and differences among organisms.

(©) Study and analysis of fossils and its features are very important considerations for plylogenetic
system of classification.

Select the option of correct answer from below mentioned code :
(1) Onlv (A) of above

(2) Only (B) of above
(3) Only (A) and (C) of above
(4) Only (A) and (B) of above

Options:-

«1, Option ID :- 437,
=« 2, Option ID :- 438,
« 3, Option ID :- 439,
= 4, Option ID :- 440,

Question ID:- 111
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correct ?

(1) Evolution brings changes at population level.

(2) Variation and adaptation occur in organisms as per need.

(3) The process of natural selection sorts variation present in population.
(4) Mutation is a source of new variation.

Frefafea § 4 form wem =1 fasm wg gl == & fag w2 7€ A7 S gehar @2
(1) o sHEen & SR W uftad @

(2) Sfal # faf=Tar v e ST STEvaERdl & SATHR B ¢ |
(3) YTHfde =4 i Wishan SEen | suftya fafmraed &1 god €1
(4) IREdA ¢ giedH % & 2

Options:-

«1, Option ID :- 441,
« 2, Option ID :- 442,
=« 3, Option ID :- 443,
« 4, Option ID :- 444,

Which of the following statement about evolution and natural selection cannot be considered to be

Question ID:- 112

Which of the following organism is not a fish ?
(1)  Ichthyophis

(2) Hippocampus
(3) Latimaria
(4) Anguilla (Eel)

Frefafea § ¥ 20w woel 72 € 2
(1) zFIEfHg
(2) ey
(3) @fzarar
(4) TR (31)
Options:-

«1, Option ID :- 445,
« 2, Option ID :- 446,
« 3, Option ID :- 447,
= 4, Option ID :- 448,

Question ID:- 113
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Read the Assertion (A) and Reason (R) carefully and Select correct answer from the options.
Assertion (A) : Mercury and DDT undergo biomagnification in food chain.

Reason (R) : DDT biomagnification has resulted in premature breaking of egg shells of birds
and mercury biomagnification is responsible for Minamata disease in Japan.

(1) Both Assertion (A) and Reason (R) are true and Reason (R) is correct explantion of Assertion
(A).

(2) Both Assertion (A) and Reason (R) are true but Reason (R) is not correct explanation of
Assertion (A).

(3) Assertion (A) is true but Reason (R) is false.
(4) Assertion (A) is false but Reason (R) is true.

TRERA 991 SHIOT Fl A ufey ud fashedi § 9 %@l 3w g

rfireRem : TRE 9o SELT T EE SEen § g AT S ¥

®HROT:  ELELA. & 9 T % FR ufari % ofei & foers aveyd 228 @ € qu1 URE w1 SiE
STaH Smar H | 99 6 fore feaeeR 21

(1) AR T HNUT a1 el §, AR T, AR &I T2 = 2 |

(2) AR TR H/WOT A T &, T TN, AT I TE AR T B

3) AfueReT WEl §, T ShINOT 7TeTd ¢ |

(4) AR e 8, T HROT TR

—

Options:-

«1, Option ID :- 449,
=« 2, Option ID :- 450,
« 3, Option ID :- 451,
= 4, Option ID :- 452,

Question ID:- 114

Which of the following features is/are essentially observed in all chordates ?
(A) Triploblastic

(B) Hollow and tubular nerve cords

(C) Either open or closed blood vascular system

(D) Cold or warm blooded

Select the correct answer from the following :

(1) (A), (B) and (C) of the above

(2) (A), (B) and (D) of the above

(3) Only (A) and (D) of the above

(4) All of the above (A), (B), (C) and (D)
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TrefafEd § | FE-9/8 @0 Feres! v § Hved 9 8 qiefad g @ ?
(A) Ta=ada

(B) WrEdl Ud AR e 15

(C) & Hered o= =1l gl A1 dg

(D) eTHTardt i gHardt

s & fau = few e famed § 9 @@ & =991 A1
(1) 39 4 9 (A), (B) T (O)

(2) IR H ¥ (A), (B) T (D)

(3) 390 § 9§ FHad (A) T (D)

(4) T T (A), (B), (C) T (D)

Options:-

«1, Option ID :- 453,

« 2, Option ID :- 454,

« 3, Option ID :- 455,

= 4, Option ID :- 456,

Question ID:- 115

Commensalism can be represented as :

(1) Species A (-) : Species B (+)
(2) Species A (o Species B (+)
(3) Species A (+) : Species B (+)
(4) Species A (-) : Species B (-)

eefiferan =1 Freun fefafaa 9 9 fman s gea &
(1) THEs A (=) : THEs B (+)
(2) FHEAS A (O) : TS B (+)
(3) TN A (+) : TS B (+)
(4) FISS A (=) : RIS B (-)

Options:-

«1, Option ID :- 457,
= 2, Option ID :- 458,
« 3, Option ID :- 459,
« 4, Option ID :- 460,

Question ID:- 116
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Following are some kinds of water present in soils. Which one of them is most easily available and

essential to the plants ?
(1) Chemically combined water

(2) Hygroscopic water
(3) Capillary water
(4) Gravitational water

e ¥ frfafed ger & sia 3ufked & © | Feafafed § 4 $F gad afts gesa 9 Sy B ad

e & foT sTeeas €2

(1) Tt ®9 9 s s
(2) SAEAHTE S

(3) <hfeERl Sie

(4) e S
Options:-

«1, Option ID :- 461,
« 2, Option ID :- 462,
=« 3, Option ID :- 463,
« 4, Option ID :- 464,

Question ID:- 117

Identify the feature(s) of coelenterates from the following option :

(A) Asymmetrical body

(B) Presence of cnidoblasts

(C) Polymorphic organisms

(D) Presence of collar cells

Select the correct answer from the codes given below :
(1) (A), (B) and (C) of above

(2) Only (C) and (D) of above

(3) Only (B) and (C) of the above

(4) (B), (C) and (D) of above
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Frefafag fasedl § 9 ie=el & Sidl & @0 &1 989 Hi |
(A) srEfEd IR

(B) TEleare @ 3ufeafd

(C) wE&d Sfia

(D) hieR hiTvERI i Sufefd

=i fou U e § ¥ wEl 3 & fasked 1 =9 Hi
(1) 39l | ¥ (A), (B) T (O

) SRFHA C) ™ (D)

(3) SH # ¥ FHEa (B) wd (C)

(4 IWEHH (B), (C) T (D)

Options:-

«1, Option ID :- 465,

« 2, Option ID :- 466,

« 3, Option ID :- 467,

= 4, Option ID :- 468,

Question ID:- 118

Recently 26th UN Climate Change Conference of Parties (COP26) was held in Glasgow, UK. In
the COP26. India has targeted to achieve 'net zero emission' by the year :

(1) 2050
(2) 2070
(3) 2040
(4) 2035

BIel B | 2681 HYo T Serary ufted el Rted (EeLW. 26) T, .6 § SIS I o | qid
3 forg ad a6 ‘Fraer 9 Soasi | 1 @@sd T e Fuifa e @ 2

(1) 2050
(2) 2070
(3) 2040
(4) 2035
Options:-

«1, Option ID :- 469,
=« 2, Option ID :- 470,
« 3, Option ID :- 471,
=« 4, Option ID :- 472,

Question ID:- 119
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Standing state refers to :

(1) The amount of nutrient present in the soil at any given time.

(2) The mass of living organism in a unit area.

(3) The number of organisms in a unit area.

(4) The amount of nutrient present in plants in an unit area.
TP e %1 A €

(1) Tt g9 w93 § g1 § 3uftd draes a0 &t 9

(2) ST &F H S H A

(3) THE & T el HI Hem

(4) ZhTE &3 H urey H Iufted ek dwell sl HEl
Options:-

»1, Option ID :- 473,

« 2, Option ID :- 474,

« 3, Option ID :- 475,
= 4, Option ID :- 476,

Question ID:- 120

Internal level
=

External level ——>

The above diagram represents types of organismic responses. Which type of response is shown by

overwhelming majority of animals and nearly all plants ?
(1) A response

(2) B response
(3) Both B and C response
(4) C response
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SUYH] SNE 9 STRA1 o YRR o1 2%ia1 & | e Wehr =t Stferan sifuerien Siged o aun e 9t ey

o @l ot § 2

(1) A stgfEn

(2) B e

(3) B W™ C ST SH
(4) C sTafF
Options:-

«1, Option ID :- 477,
=« 2, Option ID :- 478,
« 3, Option ID :- 479,
= 4, Option ID :- 480,

Question ID:- 121

Which one of the following structures is not seen in the section through the human testis ?
(1) Sertoli cell

(2) Leydig cells
(3) Antrum
(4) Spermatids

o o g0 H Fifed § & -9 S T e § 2

(1) Helet HIeER

(2) ehfen sifymsd

(3) & (gH)

(4) TR
Options:-

«1, Option ID :- 481,
« 2, Option ID :- 482,
=« 3, Option ID :- 483,
« 4, Option ID :- 484,

Question ID:- 122
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Choose the correct option which shows similarity about the egg and the sperm :
(1) Both are always motile.

(2) Both have stored food.
(3) Both are produced in the embryonic stages.
(4) Both have a haploid nucleus.

Freifera § @ for fasreg | ofer oI ypprop & goman guifé e § 2
(1) i g Tfreia o §

(2) <F A dufed @ e ¥

(3) T W Seafe A oraen ¥ g ¥
(4) EF1H SFfUE e B §

Options:-

«1, Option ID :- 485,
=« 2, Option ID :- 486,
« 3, Option ID :- 487,
= 4, Option ID :- 488,

Question ID:- 123

Which one of the following hormones induces parturition or child birth in humans ?

(1) Relaxin

(2) Human placental lactogen
(3) Oxytocin

(4) Progesterone

Teiferd § § ®F-41 g1HE THa § 994 91 95y & 57 1 Ui e 87

(1) frifFm

(2) HAE YA TAFSH

(3) Sl

(4) HSEIA
Options:-

«1, Option ID :- 489,
« 2, Option ID :- 490,
« 3, Option ID :- 491,
« 4, Option ID :- 492,

Question ID:- 124
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To which of the following group the fossilized organism Trilobites belong ?
(1) Annelida

(2) Arthropoda
(3) Mollusca
(4) Echinodermata

Sitared 57 % Sita gRaeEse, frefated § 9 g g9 % siafa om €2

(1) TAete

(2) SATE

(3) HIETE=H

(4) SHEARHA
Options:-

«1, Option ID :- 493,
« 2, Option ID :- 494,
« 3, Option ID :- 495,
= 4, Option ID :- 496,

Question ID:- 125

Oral - Contraceptive Pills essentially have :
(1) Oxytocin

(2) Gonadotropin
(3) Progestrone-Estrogen
(4) Luteinising Hormone

9 e Tiferdl o sifHard ®9 9 g s g

(1) sHifeeifem

(2) e

(3) ASEA-TENH
(4) feTEisT BREm
Options:-

«1, Option ID :- 497,
« 2, Option ID :- 498,
« 3, Option ID :- 499,
« 4, Option ID :- 500,

Question ID:- 126
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Relaxin Hormone facilitates the process of :
(1) Making pubic symphysis flexible

frarfaem e o) eriera e 22

(1) STF HYH = S=ien a9 9§

(2) THE @ UYEE Y % E|E H

(3) 9Ha & g7 MR Ui % wgen o
(4)  TTHTeRe R S @A H

Options:-

«1, Option ID :- 501,
« 2, Option ID :- 502,
« 3, Option ID :- 503,
= 4, Option ID :- 504,

(2) Release of milk after parturition
(3) Contraction of uterine muscle during parturition
(4) Maintenance of pregnancy

Question ID:- 127

Hysterectomy is :
(1) Removal of the vagina.

«1, Option ID :- 505,
« 2, Option ID :- 506,
« 3, Option ID :- 507,
« 4, Option ID :- 508,

(2) Routine process of female contraception.
(3) Removal of the uterus.
(4) Removal of the fallopian tube.
TeeetarH
(1) @ 1 e
(2) =it Ty 5 y=faa fafy
(3) TR = FekTer
(4) sigarfel I Fare
Options:-

Question ID:- 128
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The largest ovule of Plant World is reported in :
(1) Colocasia

(2) Rose
(3) Lycas
(4) Mango

eI 1 Herd g1 sisig qrd1 Sl @ :

(1) srRarH
(2) TEH
(3) WEFGH
(4) HH
Options:-

«1, Option ID :- 509,
« 2, Option ID :- 510,
« 3, Option ID :- 511,
= 4, Option ID :- 512,

Question ID:- 129

A Multicarpellary Syncarpous Pistil with five free stigmas is found in :

(1) Hibiscus

(2) Mustard
(3)  Papaver

(4) Citrus

e agsied gaaiett wihae fogd ure gea gfosig B €, I S €
(1) 7T d

Options:-

«1, Option ID :- 513,
« 2, Option ID :- 514,
=« 3, Option ID :- 515,
« 4, Option ID :- 516,

Question ID:- 130
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Which of the following is a precursor for pollen kitt synthesis ?
(1) Glucose

(2) Carotenoid
(3) Amino acid
(4) Steroids

frefafad 5 9 =0 wr fre deerm 1 gdadt €2
(1) T

(2) HUfere
(3) Uil s
(4) wikeH
Options:-

«1, Option ID :- 517,
=« 2, Option ID :- 518,
« 3, Option ID :- 519,
= 4, Option ID :- 520,

Question ID:- 131

Molecular cloning is :

(1) Replication of recombinant DNA molecule.
(2) Transduction of recombinant DNA.

(3) Transformation of recombinant DNA.

(4) Mutation of recombinant DNA molecule.
Aifveres FAI-11 Bl &

Options:-

«1, Option ID :- 521,
« 2, Option ID :- 522,
=« 3, Option ID :- 523,
« 4, Option ID :- 524,

Question ID:- 132
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Which of the following characteristics is undesirable in cloning vectors used in genetic

engineering ?

(1) Vulnerable at several sites to a restriction enzyme.
(2)

(3) Small in size.
(4)

High copy number.

Control their own replication.

Frefafes & 9 #A-@t faferes smdfos afimibe § ggm e o g gefin gaes * foo

T %2
(1) gfdsea T=ied & fou &g o0 | 998
(2) = UM Hemn

(3) BRI AHR
(4) TEyfaesfd =1 fFEEm
Options:-

«1, Option ID :- 525,
« 2, Option ID :- 526,
« 3, Option ID :- 527,
« 4, Option ID :- 528,

Question ID:- 133

Complete the given equation and choose the correct option accordingly :

Milk protein Re0TR

Pepsin . .
<p— Calcium Paracaseinate

(1) A-Casein, B-Ca2*, C-Peptones
(2) A-Ca2*, B-Peptones, C-Casein
(3) A-Paracasein B—Caz‘”, C-Peptones
(4) A-Ca?* B-Paracasein, C-Peptones
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Trefafad Tt 1 qu wifsu iR w8 fosweq %1 =939 Hifeu |

Tl

[T« ahfoymm dueiive

Wﬁﬂ?i

(1) A-%fF, B-Ca2*, C-U=H
(2) A-Ca?*, B-U=RH, C-ehfaA
(3) A-UUHfE, B-Ca?', C-U=2H
(4) A-Ca*, B-UUshEA, C-T2H
Options:-

«1, Option ID :- 529,
=« 2, Option ID :- 530,
« 3, Option ID :- 531,
=« 4, Option ID :- 532,

Question ID:- 134

The class of immunoglobulin present in highest concentration in the blood of a human newborn
is:

(1) IgM
2) IgA
(3 IgG
(4) IgE

e ST Ry % @ H o 4ol o segrreafer i Heifuer Higa St @ 2

(1) IgM
(2) IgA
(3) IgG
(4) IgE
Options:-

«1, Option ID :- 533,
=« 2, Option ID :- 534,
« 3, Option ID :- 535,
= 4, Option ID :- 536,

Question ID:- 135
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A doctor while operating on an HIV (+)ve patient accidentally cuts himself with a scalpel. suspecting
himself to have contracted the virus, Which test will he take to rule out/confirm his suspicion ?

(1) Routine urine examination

(2) Total leucocyte count
(3) Differential leucocyte count
(4) Polymerase Chain Reaction

ek STeet U UH.E AT, (+) T R A9 i U S H 379+ i & Thodd 9 12 ol § | 36 98 9%
21 ST ® foF e S e o T e R O | S0 Wik R g S o T S -1 T A g6

(1) I T3 §i"

(2) FO HEE TH

(3) faufesr gepEEe TUH
(4) uifesys =7 sfufman
Options:-

«1, Option ID :- 537,

« 2, Option ID :- 538,

« 3, Option ID :- 539,
« 4, Option ID :- 540,

Question ID:- 136

In RNAI, genes are silenced using :

(1) ssDNA
(2) dsDNA
(3) dsRNA
(4) ssRNA

RNAi # i1 =1 g forae Suam 9§ foman s 82

(1) ssDNA
(2) dsDNA
(3) dsRNA
(4) ssRNA
Options:-

«1, Option ID :- 541,
« 2, Option ID :- 542,
« 3, Option ID :- 543,
« 4, Option ID :- 544,

Question ID:- 137
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The Bt toxin is not toxic to human beings because :

(1) The proBt toxin activation requires temperature above human body temperature.

(2) The Bt toxin recognizes only insect specific targets.

(3) The Bt toxin formation from pre Bt toxin requires pH lower than that present in human
stomach.

(4) Conversion of pro Bt toxin to Bt toxin takes place only in highly alkaline conditions.

et 2ifera Tl o foru snifaerg W@ § #if
(1) 9. & 2 (pro BT) =i &% |fram & fau 9ma s & aroam | S1fues amam & saedehdr el
il

(2) = 2 (BT) 2iferam e shie fafem @il o1 & veama €

(3) e it 2 (BT) 2o ¥ sitdl (BT) 2iferd o & fo7u |1a & Sigt o pH 4§ ¥ pH 1 SATa¢ehdl
B |

(4) 9L @ 2 (pro BT) 2ifeEa 9 @i 2 (BT) 2o | ®W6L e 3= & feafadi 5 2 81

Options:-

»1, Option ID :- 545,
=« 2, Option ID :- 546,
« 3, Option ID :- 547,
= 4, Option ID :- 548,

Question ID:- 138

Which of the following combinations is generally recommended for composite fish farming in

India ?

(1)  Catla, Labeo and Cirrhinus

(2) Catla, Cyprinus and Clarias

(3) Clarias, Channa and Cyprinus
(4)  Cirrhinus, Cyprinus and Channa

i § Freafafad 4 9 -3 99em fafya 902 9o & fag ue: seitaa forg s €2
(1) e, e iR ey

(2) e GIETY AN FRTY

(3) FARFE, FET AR GEETT

(4) FRfETH, GEEE ) ==

Options:-

«1, Option ID :- 549,
« 2, Option ID :- 550,
=« 3, Option ID :- 551,
=« 4, Option ID :- 552,
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Question ID:- 139

In the following question a statement of Assertion (A) is given and a corresponding statement of

Reason (R) is given just below it.

Assertion (A) : In the first ten days of a new born, a large number of red blood corpuscles are

destroyed.
Reason (R) : This is one of the causes of jaundice in new born babies.
Mark the correct answer as :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
(4) Both (A) and (R) are false.

e feu v § U ke (A) S gE0 @Ot (R) few M
R (A) : o= fog & 9% & 10 fei 3, ore wa S sfus den § 7= 2t 2
THIUT (R) : 7ang foggedi # = diferan & wrvi § S TH )
el 3w 1 o Frfafes yr fafEa St

(1) (A) 3R (R) T §, IR (R), (A) F1 G&I F0 ol 51
(2) (A) ¥R (R) FA & &R (R), (A) F1 T v 7 Fa1 2|
(3) (A) T &, 9 (R) 2193 T

(4) (A) ¥R (R) o7HA €|

Options:-

«1, Option ID :- 553,

=« 2, Option ID :- 554,

« 3, Option ID :- 555,
= 4, Option ID :- 556,

Question ID:- 140

A breed of cow is mated with closely related breed for five generations. It was found that production
of milk has reduced subsequently and the animals are not keeping good health. Which of the

following methods of animals breeding can be used to overcome this problem ?
(1) Hybridisation

(2) Outcrossing

(3) Controlled breeding

(4) Cross breeding
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IeATE THH B A S SR TR oft o7 78 o1 9y were i foRw fafy | w9 wwen v wmeE e
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(1) H&m

(2) dfe: HH
(3) TEfza g
(4)  H®H
Options:-

«1, Option ID :- 557,
=« 2, Option ID :- 558,
« 3, Option ID :- 559,
= 4, Option ID :- 560,

Question ID:- 141

Select the correct option representing the excretory organs present in (a) earthworm, (b) centipede,
(c) prawn and (d) flatworm :

(1) (a)-Malpighian tubules, (b)-Flame cell, (c)-Nephridia, (d)-Green Gland.
(2) (a)-Flame cell, (b)-Green gland, (c)-Malpighian tubules, (d)-Nephridia.
(3) (a)-Nephridia, (b)-Malpighian tubules, (c)-Green gland, (d)-Flame cell.
(4) (a)-Green gland (b)-Nephridia (c)-Flame cell (d)-Malpighian tubules.
0
Options:-

«1, Option ID :- 561,
« 2, Option ID :- 562,
« 3, Option ID :- 563,
« 4, Option ID :- 564,

Question ID:- 142

Which of the following enzyme produced from genes of the lac operon is responsible for catabolism
of lactose into glucose and galactose ?

(A) B-galactosidase

(B) PB-galactosidase transacetylase

(C) B-galactosidase permease

Select the correct answer from the options given below :
(1) Only (A) of the above

(2) (A) and (B) together of the above

(3) (A) and (C) together of the above

(4) Only (B) of the above
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S-S o Sl 9§ Fearfed frefafad § 9 E-91 USEA JFM & oHE U6 o § 999 & fag
I & ?

(A) B-TAREESS

(B) B-TRIEEES ZEufEES

(C) p-TrRrHESs THIS

== fqu U foshed § 4 @& 3T *1 =999 Hi |
(1) 390 4 ¥ *ad (A)

(2) 39U H ¥ (A) TE (B) T Hig

(3) SWlE HE (A) T (C) U "™

(4) S H g had (B)
Options:-

«1, Option ID :- 565,

= 2, Option ID :- 566,

« 3, Option ID :- 567,

=« 4, Option ID :- 568,

Question ID:- 143

Which of the following enzymes play crucial role in the process of DN A replication but does not
add any new nucleotide during the process ?

(A) DNA Polymerase I

(B) Ligase

(C) Topoisomerase

Select the correct answer from the following options :
(1) (B) and (C) only

freferfad & & #9-9 vy S, wfaE i fw § mewe it § fem § W v F S e
off U fFerdieEe # Sied 78 § |

(A) SLEAT, giferHE-1

(B) @IS

(C) CSrT=TEHE

Frafafiag faswedi ° 9 9et 3¢ & 997 HL |

(1) aa (B) 3R (O)

(2) I (B)

(3) e ()

# (A), BT © @t

Options:-
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«1, Option ID :- 569,
=« 2, Option ID :- 570,
« 3, Option ID :- 571,
=« 4, Option ID :- 572,

Question ID:- 144

-

Which one of the following statement is False ?

(1) Tubular secretion takes place by active transport and increases the volume of glomerular
filtrate.

(2) Kidney functions are controlled by negative feedback circuits involving ADH, RAAS and
ANF.

(3) Urine is hypertonic and nearly four times more concentrated than blood plasma.
(4) Creatinine has high molecular weight and is the breakdown product of adenosine
triphosphate.
Options:-
«1, Option ID :- 573,
« 2, Option ID :- 574,
« 3, Option ID :- 575,
« 4, Option ID :- 576,

Question ID:- 145

To which of the following estrogen and testosterone most likely bind for their action ?
(1) Membrane ion channels

(2) Enzyme-linked membrane receptors
(3) G Protein coupled membrane receptors
(4) Cytoplasmic receptors

Foramsiera F foru T oiR eedn fefafea § § fFag e 80 &2

(1) foed s o9

(2) UsiEH Hgadl fae ume

(3) SH-WRH gfma e et

(4) IforRT g UTE
Options:-

«1, Option ID :- 577,
« 2, Option ID :- 578,
« 3, Option ID :- 579,
= 4, Option ID :- 580,

Question ID:- 146
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Select the incorrect statement(s) from the following regarding transpiration in plants :

(A) Creates transpiration pull for absorption and transport of organic metabolites from the soil.
(B) Transports minerals from soil to aerial parts of the plant.

(C) Phloem is conduit for transport of water that gets transpired by leaves.

(D) Cohesion and adhesion properties of water are essential for transpiration pull.

Code :

(1) (A)and (D) only

( (B) and (C) only

(3) (A)and (C) only

(4) (C©) and (D) only

qiei | s o 99y § fefafad 9 9 1o wga & 9w Fie )

(A) T& H G IUTA T TSI G AT TG SreueEs o7y @ i g g
(B) Ui % St Wi ae @it w1 AT |

(Q) mwaﬁ%aﬂwﬁmmﬁﬁ%@rmmmﬁamaﬂ

(

%< :

(1) 9 (A) R (D)
(2) 4 (B) ¥R (C)
(3) o (A) R ()
(4) I (C) 3R (D)
Options:-

«1, Option ID :- 581,
=« 2, Option ID :- 582,
« 3, Option ID :- 583,
= 4, Option ID :- 584,

Question ID:- 147

International code of Botanical Nomenclature recognises a holotype as

(1) A specimen or illustration selected to serve as long as nomenclature type as all of the material
on which name of the taxon was based is missing.

(2) A name given to a specimen collected from the same locality from which the first specimen
was originally collected.

(3) A particular specimen or illustration designated by the author of the species to represent the
species.

(4) A specimen which is a duplicate of the original specimen collected by the author.
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(1) U wiaey wrean ey forem =97 Tmusfa wsR % &9 4 79 7% 99 &4 & fag fmn wn € 5@ a6
for goft gredt foraax e =1 =19 enenfid &, Safked =& €1
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(3) TS % Tl gR TS 1 e e v ifha o wfaest stemn free o

(4) we faeyl S w5 Hufed ga ufagyl # erfafy 2

Options:-

«1, Option ID :- 585,
« 2, Option ID :- 586,
« 3, Option ID :- 587,
= 4, Option ID :- 588,

Question ID:- 148

International code of Botanical Nomenclature describes a paratype as :
(1) The specimen cited in the protologue that is neither the holotype nor an isotype, nor the

syntype.
(2) The name given to a specimen collected from the same locality from which the holotype was
orginally collected.

(3) A specimen or illustration selected to serve as nomenclature type as long as all the material
on which the name of the taxon was based is missing.

(4) A particular specimen designated by the author of the species to represent type of a species.

F=EE Feafd ISl e H mwwy o e e 'Y T
(1) deren § affd wfaedd sit 7 @ Seery § o) 7 2 snedeEy a9 7 € faqesy |
(2) Hoq: 59 wF 9 Feierey Sufed B wn o, 36 w0 ¥ Jufgd us ufaeel &1 |

(3) W ufaewl s1erE fee forent =37 TMuGid Ui o ®9 H a6 q% & B o [ag foma 71 & 59 9%
for oft Tl o R 29E = W anenfi ©, Sufer 9 €

(4) TS o W gR TS o YRR 1 e S &g b o wfaed |

Options:-

«1, Option ID :- 589,
=« 2, Option ID :- 590,
« 3, Option ID :- 591,
=« 4, Option ID :- 592,

Question ID:- 149
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In the homeostatic control of blood sugar level, which organs function respectively as modular
and effector ?

(1) Liver and islets of Langerhans

(2) Hypothalamus and liver
(3) Hypothalamus and islets of Langerhans
(4) Islets of Langerhans and hypothalamus

B I TR & gnedfaes Feem § SE-8 o whw: afaeys $fR et it wifa @ e © 2
(1) a%d 3K oFe=g g

(2) R SR TEHa

(3) T IR e g9

(4) ©REH BT AR FENIATH

Options:-

«1, Option ID :- 593,

» 2, Option ID :- 594,

« 3, Option ID :- 595,

« 4, Option ID :- 596,

Question ID:- 150

Which of the following parasites require mosquito to complete their life cycle ?
(1)  Ascaris lumbricoides and Wiicliereria bancrofti

(2) Leishmania donovani and Plasmodium ovale
(3) Ascaris lumbricoides and Leishmania donovani
(4)  Wuchereria bancrofti and Plasmodium ovale

Frefafes 9 9 o wshfadi #1 sfias =% 90 #E * O g=st #t amavaswal i 87
(1) UERY TEFHa3q 3R TRAT dH7]

(2) foerifaer A si wieteag side

(3) UERY TsIHIAgH R a1 Sriar

(4) T F=pI72T 3 wHfeTT JiEe
Options:-

«1, Option ID :- 597,
=« 2, Option ID :- 598,
« 3, Option ID :- 599,
= 4, Option ID :- 600,

Question ID:- 151
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Read the following statements and then choose the most appropriate code that represent the
combination of correct/ true statements :

(A) The fungipresentin Vesicular Arbuscular Mycorrhizae (VAM) are members of Endogonaceae.

(B) The plants that are grown in shade and are deficient in sugars have poor mycorrhizae
development.

(C) The VAM fungi are very uncommon in roots of tree plants.
(D) The VAM fungi rarely penetrate the root surface.

Code :

(1) (A)and (D) only
(2) (B) and (C) only
(3) (A) and (B) only
(4) (C) and (D) only

Frefafes FuAl 31 gfen i 35F =18 W& FUAl & e H1 FEia FE e 9qf=d Fe 1 =991

HIfAT

(A) IR Faeh Hawgeld (ST, ) § Iuferd Fasw Fer-d & 955 & |

(B) o el o1 ferahma wren # 2 ® oiR fSH 9k i et el B, ST FHSIR heshHeia TR S
gl

(C) =.UTA. Feeh g&ll & qod H agd ST B |
(D) HUUH. FaF T & Gag F1 9gd 4 Jgd F
T

(1) e (A) 3R (D)

(2) & (B) R (C)

(3) A (A) SR (B)

(4) e (C) ¥R (D)

Options:-

«1, Option ID :- 601,
=« 2, Option ID :- 602,
« 3, Option ID :- 603,
« 4, Option ID :- 604,

Question ID:- 152
Which of the following ions play a role in blood clotting ?
(1) Magnesium

Zinc

e

(2)
(3) Calcium
(4)

Ferrous (Iron)
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T % Thed § feiferd o @ T emae it yfe 2t €2

(1) FIfrm

(2) S

(3) hfeerm

(4) dre
Options:-

«1, Option ID :- 605,
« 2, Option ID :- 606,
« 3, Option ID :- 607,
« 4, Option ID :- 608,

Question ID:- 153

Na™ (Sodium) is probably regarded as an essential element for the plants such as :
(A) Atriplex vesicaria

(B)  Selanum tuberosum

(C) Capsicum See

(D) Amaranthus tricolor

Code
(1) (B) and (C) only
(2) (A) and (D) only
(3) (A) and (B) only
(4) (B) and (D) only
B
Options:-

«1, Option ID :- 609,
» 2, Option ID :- 610,
« 3, Option ID :- 611,
« 4, Option ID :- 612,

Question ID:- 154
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Sterols in the membranes help in :

(A) Decreasing the fluidity of membrane

(B) Cold-Tolerance

(C) Adapting temperature fluctuations, especially when plants are exposed to high temperatures.
(D) Osmoregulation

Choose the correct code :

a)wmum

( (A) and (C) only

(3) (C)and (D) only

(4) (B) and (C) only

ol o woxiet fored e o3a &7
foed =t wear § =t
(B) fta-HfesaT
(C) ATIYH % =239, fadrusz st didll =1 3= o W@ S €, 1 S
(

D) YIEHOIHIHA
TE 2 T T FIAC ;
(1) e (A) SR (B)
(2) FEE (A) S (Q)
(3) e (C) ¥R (D)
(4) Faa (B) 3R (©)
Options:-

»1, Option ID :- 613,
=« 2, Option ID :- 614,
« 3, Option ID :- 615,
= 4, Option ID :- 616,

Question ID:- 155

Consider the following statements marked as Assertion (A) and Reason (R) given below and
choose the correct answer from the codes given below the statements :

Assertion (A) : Pyruvate, the final product of glycolysis is completely oxidized to CO, in
mitochondria in a cyclic cycle called citric acid cycle.

Reason (R) : All the enzymes involved in the citric acid cycle are located within the matrix of
a mitochondrion.

Choose the correct alternative :

(1) Assertion (A) is correct but Reason (R) is incorrect.
(2)
(3) Assertion (A) is incorrect but Reason (R) is correct.
(4) Both Assertion (A) and Reason (R) are incorrect.

Assertion (A) as well as Reason (R) are correct.
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19 21w feu o § T § e #1 afeRed (A) 991 TR 1 ShIROT (R) FE T © | 39 9T faEm s
qen == fed T weAl § H Hel e 1 99 it

ATYFRAT (A) :  TEIEHRI HTEET H1 FAAH UG YT F WEfew UfHe =% § "R § CO, |
ol e & ST R |
SHIUT (R) : aEfew tfae =% O e 9 U=y AEewifedl & NuEt § safemd g6 1

&I foerey =1 =7 i

(1) #AfFHEA (A) HEl &, 9% (R) TTerd & |
(2) (A) 3R (R) H T E 1

(3) (A) T &, W (R) TET B

4) (A) 3R (R) SF 7Terd € |

Options:-

«1, Option ID :- 617,
=« 2, Option ID :- 618,
« 3, Option ID :- 619,
= 4, Option ID :- 620,

Question ID:- 156

Maize generates resistance against stem borers by having :
(I) Low aspartic acid, high nitrogen and sugar content.
2) Low aspartic acid and sugar but high nitrogen content.
) High aspartic acid and nitrogen but low sugar content.
)

High aspartic acid, low nitrogen and sugar content.

2 12

(
(
(4
TRl H T S o foes WialE wE S gidl @ 2

(1) TEmfes st Fe7 ud Tgare oiiR weha i 3= T

)
3) UEIfIs 3R 3T ARZISH i 3o UG, R I 4 |
4) UEIfEe A ot I ABLISH ST U i e T

(2
(:
(

Options:-

«1, Option ID :- 621,
« 2, Option ID :- 622,
« 3, Option ID :- 623,
« 4, Option ID :- 624,

Question ID:- 157
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Which one of the following events/ reactions occur in Bundle Sheath (BS) cells of a leaf in a
C, plant ?
4

Select the correct code :

(A) CO, enters the BS cells to initiate the events of CO,-assimilation.

(B) Malate is converted to Pyruvate accompanied by release of a CO, molecule.

(C) Phosphoenol pyruvate accepts a CO, molecule to produce oxaloacetate.

(D) CO, molecule produced during Malate to pyruvate conversion is accepted by RUBISCO.

Code :

(1) (A) and (B) only
(2) (B) and (D) only
(3) (C)and (D) only
(4) (B)and (C) only

et ¢, T H N % Ue Ao (Sug.) Hifves | Frefafed § 9 sE-E sy st @ 82
(A) CO, h.ug. HifeErsli § Fae H € 9 CO,~Ta e T 5 &1 Y 2 9F |

(B) Fre eae # uitafda 1 S & @ €O, 2] Fee den g

(C) THIEREAE T&ae CO, 31 %l TSV Hidl & 91 SAfasaniaee sl i Fa €1

(D) Here | Y9z & 9fEdd H 309 CO, 217 %l RUBISCO 180 el & |

e :
(1) ae (A) @R (B)
(2) < (B) R (D)
(3) 9 (C) ¥R (D)
(4 = (B) ¥R (Q
Options:-

«1, Option ID :- 625,
» 2, Option ID :- 626,
=« 3, Option ID :- 627,
= 4, Option ID :- 628,

Question ID:- 158

Methanogenic bacteria are not found in :
(1) Rumen of cattle

(2) Gobar gas plant
(3) Bottom of water logged paddy fields
(4) Activated Sludge

B

Options:-

«1, Option ID :- 629,
=« 2, Option ID :- 630,
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« 3, Option ID :- 631,
=« 4, Option ID :- 632,

Question ID:- 159

Match the items in Column - I with those in Column - Il and Choose the correct answer :
Column - I Column-II

(A) Blue green algae as biofertilisers (i) Ectomycorrhiza
(B) Fungi as biofertilisers (ii)  Thiobacillus sp
(C) Free living nitrogen fixing bacteria (iii) Anabaena sp

(D) Phosphate Solubilising bacteria (iv) Clostridium sp
(1) (A, B)-@), (©)-Gv). (D)-(i)

(2)  (A)y(v), (B)-(), (O-(1), (D)-(iii)

(3)  (A)(iv), (B)-(ii), (C)-(ii), (D)-(i)

(4)  (A)(v), (B)-(), (O)(id), (D)-Gi)

wHiAg-1 wig-11

(A) S 3 F w9 H et gfa T (i) SRRy
(B) @ IAH % &Y H FaH (i) rFEgTT W
(C) W& Siifad ATS2IerT AR sl (i) T &

(D) hiERe facrdistor sl (iv) FrieT o,
(1) (A) (iii), (B)-(i), (C)-(iv), (D)-(ii)

(2)  (A)(v), (B)-(), (©-(i), ( )-(iii)

(3)  (A)-(iv), (B)-(iii), (C)-(1), (D)-()

(4)  (A)(iv), (B)-(i), (©)-(iii), (D)-(ii)

Options:-

«1, Option ID :- 633,
=« 2, Option ID :- 634,
« 3, Option ID :- 635,
« 4, Option ID :- 636,

Question ID:- 160

Which of the following statement is true for Activated sludge ?
(1) A part is pumped back from settling tank to aeration tank.

(2) Absorbs pathogenic bacteria presentin waste water while sinking to the bottom of the settling
tank.

(3) Can be discarded and aerobically digested.
(4) Absorbs colloidal organic matter.
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frfafaa # 9 $HE-91 Fom wiFdia s F fag 9o 32

(1) et o 5o arel $ 9 aTad o § SHeR U YT U fRe S 1

(2) et ® SR O S @ aelt H Sed gu i et § Syftera Ieie SRl i Stasifid e 81
(3) =4 Wt 1 Hehal § ol araetE w & uife foran S W 7

(4) HICTEE! FTEfTeR Tg1el il TG a8

Options:-

«1, Option ID :- 637,
« 2, Option ID :- 638,
« 3, Option ID :- 639,
« 4, Option ID :- 640,

Question ID:- 161

=

Given below are few statements regarding somatic hybridisation. Choose the correct statements :
(A) Protoplasts of different cells of the same plant are fused.

(B) Protoplasts from cells of different species can be fused.

(C) Treatment of cells with cellulase and pectinase is mandatory:.

(D) The hybrid protoplant contains characters of only one parental protoplast.
Code :

(1) (A)and (C) only

(2) (A) and (B) only

(3) (A)and (D) only

(4) (B) and (C) only
Options:-

«1, Option ID :- 641,
« 2, Option ID :- 642,
« 3, Option ID :- 643,
= 4, Option ID :- 644,

Question ID:- 162
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Match the following Columns and Choose the correct answer from the Codes given below :

Column -1 Column - II
(A) Hyaluronidase (i) Acrosomal reaction
(B) Corpus luteum (i) Morphogenetic movements
(C) Gastrulation (iii) Progestrone
(D) Capacitation (iv) Mammary gland
(E) Colostrum (v) Sperm activation
Code :
(D) (A)V), B)-(1i), (O)-(v), (D)-(1), (E)-(ii)
(2)  (A)X@), (B)-(1), (©)-(i), (D)-(v), (E)-(iv)
(3 (A, B)-(i), (O-(v), (D)-(iv), (E)-()
4 (A)-), B)-H), (O-(i), (D)-(v), (E)-(v)

frefafaa swiemi 1 gafed Hifse sk = fau 7o %20 § § 98 3T & 997 Hife |

SHieTH-1 wieTa-11
(A) BrETRITTeE (i)  TRIEE sl
(B) hidd &gfeam (i) EE o Tia
(© *“?‘TW (i) WIS
(D) Hufgess (iv) = iy
(E) +ag'9 (hIAZH) (v) Ry Hisham
(1) (A)(v), (B)-(i1), (©)-(iv), (D)-(1), (E)-(ii1)
(2)  (A)-(), (B)-(iii), (C)-(ii), (D)( ), (E)-(iv)
(3)  (A)-(iii), (B)-(ii), (C)-(v), (D) ) )(1)
(4) (A0, (B)-(ii), (O)-(iii), (D) (lV )=(v)
Options:-

«1, Option ID :- 645,
« 2, Option ID :- 646,
=« 3, Option ID :- 647,
« 4, Option ID :- 648,

Question ID:- 163

A human female is born with a million of eggs (primary oocytes) at the time of birth, only some 500
eggs get a chance of maturity. What is the destiny of the rest of the eggs ?

(1) Rest of the eggs differentiate back to thecal and granulosa cells.
(2)
(3) Rest of the eggs move out of the ovary and are destroyed by leucocytes.
(4)

Rest of the eggs nurture the dominant follicular cell.

Rest of the eggs break down and are absorbed (i.e. degenerative follicular atresia).
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T WHd HIel H 5 & g0 fafeaaw of (wafyes siew) 29 €, afed sae 500 i %1 €t ufivea g9 &
ST et & 1 sl % eiei ot frafa = 2 € 2
(1) =Rl & &S offerer R el #iferemed & fadfe & s )
(2) AR F ST GOE FICHEHeR HITYER 1 II6 990 Fid €1
(3) @I % 3T sfenmE | "Ry e € o orREEe 5 AR g )
) @RI % T 72 T srEwitad & S ¥ (fesmifes wieliger wedifeen) |

Options:-

«1, Option ID :- 649,
« 2, Option ID :- 650,
« 3, Option ID :- 651,
= 4, Option ID :- 652,

Question ID:- 164

Progestin-estradiol combined contraceptive pills inhibit ovulation by :

(1) Negative feedback on the release of estrogen from ovary required follicular development in
folllicular phase.

(2) Preventing the uterine physiological and morphological changes required for implantation.
(3) Inhibiting the secretion of FSH and LH that are necessary for ovulation.
(4) Both (1) and (3) of the above.

yroife-tezreia fafga nuifadees et sisent #1 %9 geffa wud € 2

(1) Thicliger awd] § Hifoeha & fam™ & fau senm ¥ w=em & FHEET T B0 gas |
2)  eiaiiun & fog stevas nuivEl e iR e aiEdHl 1 A%

3) e % foru smawgs FSH 2R LH & &9 i Hefqd 2 & |
)

(
(3
(4) e | F SE (1) iR (3)

Options:-

«1, Option ID :- 653,
« 2, Option ID :- 654,
« 3, Option ID :- 655,
« 4, Option ID :- 656,

Question ID:- 165
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In the following question, a statement of Assertion (A) is given and a corresponding statement of
Reason (R) is given just below it.

Assertion (A) : Cryptorchidism is a condition in which testes are unable to descend into scrotal
sacs.

Reason (R) : This results in oligospermia.

Mark the correct answer as :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)is true (R) is false.

(4) Both (A) and (R) are false.

=19 feu gu y9a H wk AfeRem (A) fean 7 8 SR 39k +1< T (R) fean g
SARIHRI (A) : THIIVAT T TaEeT & F5EH guw, gy S § SJaie #7 H 389 2 2 |
THTOT (R) : SHY STCIREHTIAT Bl & |

TEr I w1 39 W fafEd s

(1)  (A) 3R (R) SHi 94 €, 3R (R), (A) 1 Hel faawor €1

(2) (A) 3R (R) SHi T3 §, 3R (R), (A) 1 Fel foqamor 7= &1

3) (A) TH T, I (R) 3T9A €|

4) (A) ¥R (R) ST 38 ¥ |

Options:-

«1, Option ID :- 657,

=« 2, Option ID :- 658,

« 3, Option ID :- 659,

=« 4, Option ID :- 660,

Question ID:- 166

Nucleated RBCs during early embryonic life are formed in :

(1) Liver

(2) Spleen

(3) Bone marrow
(4) Yolk sac

EA Yoitg e § Faeh Ja oot SR FIfeeT e o € 2

(1) Fpd

(2) E

(3) A"

(4) T HMm
Options:-

«1, Option ID :- 661,
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« 2, Option ID :- 662,
=« 3, Option ID :- 663,
« 4, Option ID :- 664,

Question ID:- 167

In earthworm, which of the following is present in segment 4, 5 and 6 ?

(1) Septal nephridia

(2) Gizzard

(3) Typhlosole

(4) Pharyngeal nephridia

Fgu H frrfafea § 4 @2 4,5 3R 6 § 01 fazmm g 2

(1) T2 g&F

(2) ol

(3) SAEEE

(4) THAE gESR
Options:-

«1, Option ID :- 665,
=« 2, Option ID :- 666,
« 3, Option ID :- 667,
= 4, Option ID :- 668,

Question ID:- 168

Blood cells having antihistamine properties are :

(1) Basophils
(2) Neutrophils
(3) Monocytes
(4) Eosinophils

e IRy foe fafeeef fadmamd &t €, a €

(1) sHfea

(2) =it

(3) HAMEE

(4) SSHEIFA
Options:-

«1, Option ID :- 669,
« 2, Option ID :- 670,
« 3, Option ID :- 671,
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« 4, Option ID :- 672,

Question ID:- 169

Match Column - I with Column - IT and select the correct options from the codes given below :

Column -1
(A) Ladybird beetles feeding on insects
(B) Barnacles growing on the back of whale
(C) Wasp pollinating the fig inflorescence
(D) Lice living on skin of humans
(1) (A, (B)-(v), (O)-@1), (D)-(v)
(2)  (Ax(v), (B)-(Gi), (O)-(v). (D)-()
(3)  (A)Gi), (B)-(), (©)-(v), (D)-(iv)
(4)  (A)-(i), (B)-(i), (O)-(1), (D)-(iv)

wHieTH-1

(A) hIel U2 319 Hid gL TSEs 7

(B) = I WIS W HEH HTA Al dAriehel

(C) SIS goqshH <l GO id §Y oL

(D) HMEl i = 9 18 arell S

(1) (A)-(i), B) (iv), (©)-(1), (D)-(v)

(2)  (A)(v), (B)-(i), (©)-(v), (D)-()

(3) (A)-(i), (B ) (C) (v), (D)-(iv)

(4)  (A)-(id), (B)-(ii), (O)-(1), (D)-(iv)
Options:-

«1, Option ID :- 673,
« 2, Option ID :- 674,
« 3, Option ID :- 675,
= 4, Option ID :- 676,

)

+

PR e

iv)

—

(v

(
(i)
(

Column-II
Mutualism
Predation
Competition
Commensalism
Parasitism

Question ID:- 170

An organism contains carbon molecules which have passed through three levels of ecosystem. The

organismis a:
(1) Primary consumer

(2) Tertiary consumer
(3) Secondary consumer
(4) Producer
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e groit forad e ofv) wiftd s % ofF SR 9 e 9 € 1 98 W | -
(1) ot SusdiE

(2) qarEe SYHE

(3) Tgeioss Susiiem

(4) 3IURH
Options:-

«1, Option ID :- 677,
« 2, Option ID :- 678,
« 3, Option ID :- 679,
« 4, Option ID :- 680,

Question ID:- 171

Match the items of Column - I with Column - IT and select the correct option :

Column - I Column - II
(A) Electrostatic precipitator (i) Removes gases like SO,
(B) Scrubber (i) Reduces automobile emission
(C) Catalytic converter (iif) Removes particulate matter
(1) (A)-(), (B)-(ii), (O)-(i)
(2)  (A)(i), (B)-(1), (©)-()
(3) (A1), (B)-(ii), (C)-(iii)
(4 (A)(ii), (B)-), (C)-(i)

Hierd-1 HieTa-11

(A) oA @A (i) SO, S THi Fl T2 Fahdl §

(B) HISIF (i) ToEferd ATEl % IedS P FH FA &
(C) 3o uiade® (iif) eUEhTd qaHT I &1 <a ¢

(1) (A)(), (B)-(ii), (O)-()

(2)  (A)(ii), (B)-(ii), (O)-(1)

(3) (A0, (B)-(i), (O)-(iii)

(4)  (A)-(iii), (B)-(i), (C)-(ii)
Options:-

«1, Option ID :- 681,
« 2, Option ID :- 682,
=« 3, Option ID :- 683,
« 4, Option ID :- 684,

Question ID:- 172
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(1) Introduction of high yielding varieties
Intensive use of bio fertilisers

—
)

(

)
)  Extensive intercropping
(4)

Intensive use of bio pesticides

Ffy Gaelt wEel § STt fafayd = @ €

(1) == YemEr aw e & ToeeE 9
(2) g IR & TEA ITAM Y

(3) Tokgd &9 9 AU 9 gH

(4) SEUIZFATE & T ITART H
Options:-

«1, Option ID :- 685,
=« 2, Option ID :- 686,
« 3, Option ID :- 687,
= 4, Option ID :- 688,

Genetic diversity in agricultural crops is threatened by :

Question ID:- 173

Territoriality occurs as a result of :
(1) Parasitism

(2) Co-operation

(3) Predation

(4) Competition

greforerdr forgsr weraey Bt & 2
(1) Osifaa
2)  HEWeH

Options:-

«1, Option ID :- 689,
« 2, Option ID :- 690,
=« 3, Option ID :- 691,
« 4, Option ID :- 692,

Question ID:- 174
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The relation between species richness and area is described on a logarithmic scale by the equation
(where S = species richness, A = area, Z = slope of the line, C =Y intercept ).
(1) logS=logC-ZlogA

(2) logS=Zlog A

(3) logS=logC+Zlog A

(4) logS=logC

witofis g 3iR &5 o1 Gee TEFToreh G0 T T SHIS 5 e § (SEl S =g gl A =49,
Z =@M e, C=Y Ha:E3)

(1) logS=logC—ZlogA

(2) logS=Zlog A

(3) logS=logC+Zlog A

)

(4) logS=logC

Options:-

«1, Option ID :- 693,
= 2, Option ID :- 694,
« 3, Option ID :- 695,
= 4, Option ID :- 696,

Question ID:- 175

Which one of the following is not an invasive species ?
(1)  Parthenium hysterophorus

(2)  Ocimum sanctum
(3) Lantana camara
(4)  Eichhornia crassipes

Frafafag § 9 =A-91 1% s SRS 6 6 2
(1)  IREfH feisy

(2) eifaam d=zq

(3) o= FHYT

(4)  STEFIAT FETTT
Options:-

«1, Option ID :- 697,
« 2, Option ID :- 698,
« 3, Option ID :- 699,
« 4, Option ID :- 700,

Question ID:- 176
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Select the incorrect statement :

(1) In obligatory mutualistic relationship, extinction of one organism will cause extinction of the
other.

(2)  Lanatana and Eichhornia are invasive weed species in India.

(
(3) Species diversity increases as we move away from equator towards the poles.
(4) Species diversity is calculated by Shannon-Wiener's index.

TeTd YA 1 TIF I

(1) sifowredt Severl Hay H UF Sia &1 faa o= el & faeod &1 HRo a7 |
(2) eleTAU SAFFE A AN H HehTIF WIIqER TS € 1

(3) 9 BH YHEAE ¥ Yd i AR W ¢, Thefis fafauar ag s 2

(4) Tt fafaear 1 afteher SR i 8 fwan s g

Options:-

«1, Option ID :- 701,
=« 2, Option ID :- 702,
« 3, Option ID :- 703,
« 4, Option ID :- 704,

Question ID:- 177

The principal tail piece of human sperm shows the microtubular arrangement of :

(1) 7+2
(2) 9+2
(3) 11+2
4) 13+2

e YY) 1 e 55 ool B O gevAfasd saeasy) <9 € 2

(1) Z+2
(2) 9+2
(3) 11+ 2
(4-) 13+ 2
Options:-

«1, Option ID :- 705,
=« 2, Option ID :- 706,
« 3, Option ID :- 707,
= 4, Option ID :- 708,

Question ID:- 178
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Cyclosporin A, Which is used as an immunosuppressive agent, is produced by :
(1) Aspergillus

(2) Clostridium
(3)  Saccharomyces
(4) Trichoderma

TRFACINRA A, 51 T wfaten Fhvs FrF & &9 5 wga 21 §, STH ScareT 9 % R el & 2

(1) TEea
(2) FAELIETH
(3) HHHERTY
(4) crEwHieH
Options:-

«1, Option ID :- 709,
« 2, Option ID :- 710,
« 3, Option ID :- 711,
=« 4, Option ID :- 712,

Question ID:- 179

-

In the question given below two statements are marked as Assertion (A) and Reason (R). Select
the correct answer as per the codes given below the statements.

Assertion (A) : Cyclic menstruation is an indicator of normal reproductive phase in adult human

females.

Reason (R) : During pregnancy all events of the menstrual cycle stop and there is no
menstruation.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are false.
Options:-
«1, Option ID :- 713,
=« 2, Option ID :- 714,
« 3, Option ID :- 715,
=« 4, Option ID :- 716,

Question ID:- 180

=
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Which of the following statement is correct about RNA transcription process ?
A) Promoter of transcription unit is present upstream to the initiation site.
p P P
B) RNA polymerase enzyme joins the transcripton unit at the initiation site.
poty yme j P

(C) Therearesome highly conserved sequences present in the promoter region of the transcription
unit.

Select the correct answer from the following options :

(1)  (A) and (B) only
(2)  (B) and (C) only
(3) (A)and (C) only
(4)  (C) only
Options:-

«1, Option ID :- 717,
« 2, Option ID :- 718,
« 3, Option ID :- 719,
= 4, Option ID :- 720,
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